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SECTION -1
gug - |

CHILD DEVELOPMENT AND PEDAGOGY
a1 TR wa rememre

There are 30 questions in all in this section.
All questions are compulsory.

TS A eI 30 TH 7 |
At uwT FAfar |

of the test refers to the consistency of scores obtained by an individual on the
same test on different occasion.

(A) Reliability (B) Validity

(C) Objectivity (D) None of these

aigror < &1 Tey g i a1ae W weh & wherr W foRe safa g e ereeient it
afaaR |

(A) TovagEan (B) dwan

(C) argfEa (D) &7 & IS T

Right to Children for free and Compulsory Education falls under Act :

(A) 2009 (B) 2012 [
(C) 2005 (D) 2010 Eﬁ;ﬁ
=1 ! o 3R 3Tfart faveq w1 stferepr fopm srferfarm & sr=arfa s @ 2

(A) 2009 (B) 2012

(C) 2005 (D) 2010

In giving instructions to the mentally retardeds the teacher must keep in mind that they :
(A) are able to pass examination

(B) learn more vocational skills

(C) work hard to compete with normal children

(D) spend time in competitive games continuously

Tarerent =t gt w9 @ faftrea A 1 fréw <d wm 98 sm e =R fh A
(A) TdeT il i 1 T § |

(B) 3Tfreh SATaHTTI hiviel W |

(C) T =1 o A1 Tfareae i o ford et aftsm &t |

(D) AR Wfeerefi Tetl § gm foar |

Learning through Reward and Punishment is :

(A) Observational learning (B) Social learning

(C) Operant conditioning (D) Classical conditioning
TS TUT CUE o WIETH & HIGHT ©

(A) SeTuTTeTeh SAfermm (B) TSR AT

(C) ToramEm argeeH (D) TS HEEA

Which of the following is not a step in conducting scientific research ?

(A) Conceptualizing a problem (B) Revising research conclusion
(C) Collecting data (D) Dynamic approach

Ifes STEE % 1 feen § freforfea § & 9 a1 s Hen aE 7 7

(A) T THT 1 FTURIM (B) @My sy sy

(C) TR It Teha HTAT (D) Tifrsfiet gf¥shron



Tendency of body to maintain a steady state is :

(A) Homeostatic (B) Balance
(C) Fostering (D) Drive
TR 3TereT SR T o ToRl IR 1 T <l T ST & -
(A) wferf (B) HqeH
(C) S (D) ST

Sita works at a day care center. The pay is low and hours are long. But she loves being
around children & has no desire to look for a higher-paying job. Sita’s motivation appears
to be :

(A) Intrinsic (B) Extrinsic

(C) Selfish (D) External

T Teh S 2R Tt H T8 Hid! 8 | I A & I B & 8 o &, AT 98 S=1 o STHIH
TET T8 hidl B 3R 3= g drell Hiendl Sl qelte i hl DS sl T2 Wl § | Fiar
SR fohd SRR Shl Tl & 7 -

(A) 3T (B) wm&d E‘ﬁi

(C) et (D) wTEd

In the identification of the gifted, we must give priority to :

(A) the parents’ opinion (B) result of objective test
(C) teachers’ opinion (D) the community viewpoint
EIREINISIEARECIE R RL R IRIEC RS RSl

(A) wTar- e &t 1™ (B) (s et shi aiomm
(©) e (D) ®TeriE gfewhm

According to Freud, the primary structural elements of personality are :
(A) Conscious, Subconscious, Unconscious

(B) Id, Ego, Super-ego

(C) Pleasure principles

(D) Defence mechanism

IS % IR, SAfedcd o TUTHeh FLa-TcHS ad @ :

(A) =, Te=IdH, 3= (B) 3gH, 378H, W8
(C) 3Te & faga (D) T&TTcHeh Sfafskan




10.

11.

12.

13.

“Life presents a continuous chain of struggle for existence and survivals.” is said by

(A) Darwin (B) Shaffer

(C) Jerslid (D) Spencer

Sired, STTETE o FoY TR TSI <l Teh Had 2[@ell Sqd hidl g | d Tereeh gRI hal T
27

(A) =ifdq (B) I

(C) ES (D) T

Which among the following is not a major period of cognitive development given by
Piaget ?

(A) Sensorymotor stage (B) The pre-operational stage

(C) Cyclic stage (D) Formal operations

st gra fou e wsmaTenes fosha & fagra o f=faifega ® @ o1 o1 fasm %1 yq@ ‘wre’
TR ?

(A) IS feafa (B) Yd-ufsrarers fearfa %

(C) <shid = (D) 3TI=iEh J=aTeH "

Mental activity that goes on in the brain when a person is processing information is called :
(A) Learning (B) Mental imagery

(C) Thinking (D) Concept

SE HI3 SATHT AT I FEUT FL @ BT & A AETSh § T dTed A i
FHEAT B

(A) 3ferm (B) | shedaT

(C) Termmm (D) Eeheadl

Which of the following has not been shown to help maintain a healthy level of cognitive
functioning ?

(A) Participating in games (B) Working crossword puzzles

(C) Sedentary lifestyle (D) Reading

frfefiga § @ S o1 9T SR 9gfd % TET TR Bl Y T H A i o ford
IH TE B ?

(A) ShISTH Wt o (B) ShIE-9E Ygell IX T LT

(C) IATEH e Sreft (D) U BT



14.

15.

16.

17.

Assimilation is :

(A) Current schema to interpret the external world
(B) Process of changing to better

(C) Adapting to internal world

(D) None of these

STCHHTRTT & :

(A) SIHTH THIT ST T STl ST o farversor o fog
(B) &R H SGa ohi ishT

(C)  Tafeh G 6 TR &1

(D) T A HE off T

The three pillars of education are , and

(A) Teacher, Student, Curriculum (B) Principle, Teaching, Aim
(C) Education, Methodology, Teacher (D) Importance, Teacher, Objectivity

e o < T SR E : G| | wom
(A) Toeres, B, TeTsHd (B) Tgma, e, 3gea ‘m‘@i
(C) Turem, foranfafyr, farers (D) W&, frers, aegisar

Dyslexia is :
(A) Difficulty in reading skills (B) Difficulty in understanding maths
(C) Difficulty in writing spellings (D) Difficulty in competing

(A) T H TS (B) IO 9 | higATg
(C) wat fere o shfears (D) Sfcaeryt & wierg
Formula of IQ is :
MA A
(A) Ga x 100 (B) ~px 100
CA x 100 A
© A (D) l\él—Axl()O
gig Ay e w1 g g
MA A
(A) Ga x 100 (B) ~px 100
CA x 100 MA

© T MA (D) ﬁxlOO
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19.

20.

Which among the following is not a subjective method to assess personality ?

(A) TIndividual history (B) TInterview technique

(C) Tnventory technique (D) Rating Scale
frferiaa o @ 1 Ht safdaca 1 3TTehe A o ol T =fFaa fafa T8 2
(A) =afeTd giag® (B) HIThR dehrieh

(C) g Thieh (D) et wroh

Which among the following doesn’t fall under the classification of mental retardation ?
(A) Mild retardation (B) Moderate retardation

e
(C) Severe retardation (D) Acute retardation =
ffcTRad o & o |1 AT HedT o SFTehtyl o JFaid 8] Tl & ?
(A) ool Hear (B) W Tedl

(C) TR Hear (D) el Hear

A series of pictures is shown to the subject and he is asked to make a story, is used in

projective technique.
(A) TAT (B) Role Play

(C) Rorschach (D) Dramatic Production

=afa i foal 6 v fEen fomr S # 3R 38w wEr s % R e S 8, 98
&yt qeheteh W R fohaT ST & |

(A) AT T T (B) firh1 fafe
(C) Uik (D) e TEgf



21.

22.

23.

24,

25.

The is the immediate environment in which the individual lives.

(A) Microsystem (B) Mesosystem
(C) Exosystem (D) Chronosystem
&t Tepean aTdrery @ foem safdd war g |

(A) 9&H guret (B) THEIfeR=n
(C) vaml fawen (D) HITHA

proposed the theory of multiple intelligence.
(A) Howard Gardner (B) Freud
(C) Binet (D) Thurstone
A g-gfg w1 fagid vearfaa R R | %%g%
(A) BTE MER (B) WIS =
(€) fem (D) oA

According to Right to Education Act, 2009, no school to be established without obtaining
certificate of :

(A) Appreciation (B) Recognition

(C) Terms and Condition (D) Authorization

RTE sfufm, 2009 & IR, Fefataa fea symmor-v & fom =i fommer wenfia &
[ERISIEUI

(A) S (B) =

(C) oo wel ord (D) TR

Any relatively permanent change in behaviour or behavioural potential produced by
experience is called :

(A) Learning (B) Thinking

(C) Cognition (D) Motivation

3TV G 391 FER AT TR AT H ferelt Hf 3TugTeha Tl aiEda sl gl Sl
2|

(A) 3t (B) feommor

(C) argafa (D) S

Which among the following is involved in learning process ?
(A) Physiological (B) Psychological
(C) Environmental (D) All of the above
frfaRaa 9 & i@ i wfskan & e g —

(A) i (B) WA

(C) wiaefl (D) 37 &t



26.

27.

28.

29.

30.

In the field of mechanism of heredity, modern studies have been done principally in which
direction ?

(A) Cytology (B) Biometry
(C) Experimental breeding of animal (D) All of the above
ST T o 3T o & H, Tl e fore femm <t 3 s & 2

(A) HITHIERH (B) Sfafufd

(C) SITeRI =T ITNfTeh ISt (D) 3urerd @t

RTE Act, 2009 directs working hours per week for teachers.

(A) 40 hrs. (B) 45 hrs.

(C) 42 hrs. (D) 48 hrs.

RTE 3tffaam, 2009 frerent & ford wfe aedre foham =2 m s &1 o e 2 7

(A) 4080 (B) 459w

(C) 428w (D) 489w

Which out of the following is not a biological determinant of personality ?

(A) Nervous system (B) Ductless glands

(C) Somatic structure (D) Situational structure i
Frrrferfan 3 & i st o S frafes TR 7 2
(A) et ot (B) dafeigH uferat

(C) <feh wTeT (D) TRufos wrar

Which of the following is not a general law of heredity ?

(A) Progression (B) Variation

(C) Regression (D) like begets like

frrferRaa # & % STTE R s a2

(A) wild (B) ®U=R

(C) i (D) & AT BT E

As per Right to Education Act, 2009, Elementary Education means :
(A) Education from first to eighth class (B) Education before first class
(C) Education from 8th to 12th class (D) Education in middle school

RTE 31faf=e, 2009 @ ST7aR TR e o1 312 2
(A) UEA HETT W TS el deh hi et

(B) w¥m vft | uget < faram

(C) 3Tadt & aTEe et qeh <hi fram

(D) et fam



31.

32.

33.

34.

35.

36.

37.

38.

wue - 11

qHur -1
f=h

39 @V T pet 30 TH B |

it wem rfErd |
FrafeRaa arern # faameres g & -
(A) YA HEeA 2 | (B) IUHEARE |
(C) STTShT JTUHT HHT | H | (D) 3T ! Ig T
TEHT & MR W o= 8§ 8 = ame & -
(A) WA (B) Tusr o
(C) TuTHe are (D) g I
YT 5@ -TG ATG STHT 378 i Fehe i aTeT HaTo & — gﬁ
(A) ©T& &M (B) oSl I Tl
(C) =R heheht T GEHT (D) ©TE e
‘3T T 3T, TS T T AhITR T 37 & -
(A) - fodfd Hiet o | (B) qutd: arve e |
(C) 49 AN HT & ST M | (D) FfgdH foveg w0 |
AR T3] o fRreqor <Y ur=i= forferrt & @ i fafar 2 -
(A) T EE Tty (B) aTveer fafer
(C) @wa fafy (D) ISk JoUTTett
Torequr 3UTTE § 1Y T BT T HT TEEO ARTEH & -
(A) ged freo (B) =T freqor
(C) T3 FH (D) Sfees fregor

T8 Il § WY forehta ot i & gran 8, seuar, fawaa, qeh wifeaat srget & 3 31d o=
S ST 8 | ST STeteh o {oh® ohict o foTT gl & 7

(A) I e % fog (B) g %o % foru

(C) Toram &1t o fotw (D) e H1A & T

eyt wed, fowa amft Wy gen, fafay sfenfiastt & smem, wart, s, s
SHISHA GAMT, T o S T T Sleh BT SATIE AT S0 Shieret foehre § fohd &R
EACINCARC A

(A) JTE =R (B) 3= MU TR

(C) e freror & (D) WETaETer™ f31eo &



39.

40.

41.

42,

43.

44.

= o I W1 HiE <1 qad I 81 & -

(A) 699y I (B) 12® 1594 g &

(C) 18% 21 9% g & (D) 21¥ 2499 3y &

o=t T & ot eaformnt it T Sifres BT = | fohe R % Bl % T aed €t
AR ?

(A) TRIRER T (B) AT &R T

(C) By (D) W TR W

TS -J&dehi o HT=Ieh awdi § & =1 a8 —

(A) TSt (B) et

(C) fowg gmmft (D) =R et wm
T T Tei o I TR | 79 T TRR B - =
(A) sgfahedd T (B) oTERR 9%

(C) TegTeHs o= (D) rfiehd T2
frferRaa wrsgi # we oot o ST fergin aer o @ -

(A) Tovagrar (B) Qe

(C) SAfqeaTaehar (D) SATTETIGRAT

Haq Ud SATIeh HeTeh JUITel] I & U] I8 IRt at g Tehdll & 518

(A) TSR T&Td IEd B, TN eATehd I dTfeh T o TdTeh T 3TeHT Iy |
(B) Turerent, B wa SAfrvTeeh! i gHI-T9g W I=C T & |

(C) BT T I T =T aTe o+ fT8d Ted & |

(D) Toreres 9 ™ g1 wenaTi § o @ e 3= 37 T & |

FrefeTRaa Tt i UEeht I8 TTT ST o ST fTRaT : (Y9 9. 459 54)

5 QT 3 gd et & gt TgaTd = 3T U fohel = STe=i o1 &A1 &A1 & Sieh h

o1 <h1 T B | 3k 3T &1 7 fewrs <ft, Auws, srrar 3 et o feard uerft | v w=h
et <l BT % off= 3T, IcTE I qcadn i v o shrenfe % we gedt fowr wet, 3ueh
Hieed BT STHE TR SAIeh HUTT | TH bl Bl TG 51T UHT € ] | o8 Hifeereh A1 & ; AHE 19 747 |

TUE 1Y I & Th fIaH & | TS TSThIT & 3R Alhehld €HehIT & | T&T TTehld eHehlT &

Tehen = femtg ue, @l 30 T 7 THgeR 5 TR 9 1 Y THeET =g | v i
TSTehIY o HEwd 3T fesrdr bl STfUeRtt T8l &1 HehdT | IHh! THM ST 379 foTu. 3TTereaes T8 a9e
qehdl |

45.

G I[6C 1 TIT & -
(A) HfeT B) ffyma
(C) @& (D) gE™
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47.

48.

49.

50.

S1.

52.

53.

54.

‘TR ITec | G T ThR 3 -

(A) TRy (B) g ufy

(C) I EfY (D) < EfY
SHTAT’ 3o H HHTH & -

A) fgqaumE (B) &5 au™

(C) dqcYRY 9A ™ (D) HHYT GHTE
ffeTRad wTegi & e T W& & —

(A) 3TH (B) d ki)
(C) ufepra (D) =
freferfiad wredi A S e B -

A) 3B (B) 7=

(C) feareh (D) BRI

TEA QT 3TN 54 HIA & TIST IgaTd Il AT 3¢ oheht H ST 1 571 11 81 «Areh b
&THT HT B |” SR T {@ifehd g | fr9Ieor 1 YR 8 -

(A) TUTETEeh fereroT (B) Tfvaa ufmorarees fasmo

(C) rtfeea uftmreTee fowmor (D) GehdaTeeh ferRryur

Farfretar e § T HITHR & -

(A) U= FHd T (B) TS Hhd T
(C) YT dfgd T (D) ToRATATE hd T
Tz g e oo ¥ed &1 | — 91 3 7T U 9Teg §

A) aifcs (B) dfeereht

(C) wredfen (D) €Ea

SIY IT6q T [l TTee & —

(A) T (B) Hfua

(C) I (D) FA

(A) &R (B) U8R
(C) Imw (D) g
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56.

57.

S8.

59.

60.

freferiiaa Tt i Ugeht I8 TTT TEAT o TR feTfEaT : (9 T 55-60 %)

TR 3R WTa: Ted 3R T foamdn s6e ge § st 3R Q4T efces wiEl i iy
AT 7 | G IS 38h TR 3T ST & a1 I8 6! g =, M3 I 3R 34 & T Ll 2 |
o g foRet et T | Al gt i o g oft T o 3Rt 36 S TE g it ekt
Tl F-wll 7; T 3Eeh! §Y ol 8, Tl 3Eh! SRR 8, HehM $HehT I0d 3R 3G I
WM 8 | AT ! =T, TeAHT, gt T- e, 35 st St 3199 s <l g | T,
G IR o 1 IHb H1Y T TR ST 1 T 8 A § 7 €3, diar 3 39 S &1
ferami <@ STan ], 31 firer &1 @l | % A1 3 31 el & — “diet 9ra Tl TS vie
WTet FeRETT b1 $Ya 370 el SIGR <61 G2 GaT & | 37eh! o hl ol § 4§ T 37 =I5 o1 -
TR Ieh Tl T IS & | A Fohld o TIH WY & |

Terran sk ge | AT 31X STeya smeafeies wral 6T 9 shtar @ 1 freferRaa s &
T@iferd U | =7 319 T@q AT AT 8 -

(A) TRHETHT § Y & 91T | (B)  3TTcHT Teaeft {1 |

(C)  SATCHT-TCHTHT § F&-9 T&H a1eTl | (D) G0l SeATer |

oo

freforRad sregi H sga=r Isg @ -

(A) ¥ (B) S %ﬁ
(©) Td (D) T

‘arEIE R A A qar e I A fhE wA H R 7

(A) 319U 9@ (B) I wiersad e
(C) 9T dehTet (D) IdHH HTeA
Freferftad weei 0 fir forg w1 Seg 2

(A) 19 (B) Wehfd

(C) <rzmn (D) e

TR 3R E: T 3R Ta faumar 6o ge@ § S 3R 318Yd SMefches Wial i g1
AT 2 | AT | W@Tfehd g o1 faadia forg gmm

(A) faunh (B) faum

(C) farert (D) faum

< TI o AT A1Y & |’ TR 1 U1 hTel H§ SGoi W e g

(A) 3 THid & S A1 B | (B) 3 Whfd o ST AT & |

(C) A Whfd < STaT A1 B T | (D) ¥ IIE Yohfd & ST €1Y & & |
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SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

‘Leading from simple to complex’ is used in the principles of :
(A) Gradation (B) Habit formation
(C) Controlled vocabulary (D) Follow the natural way

Which one of these is a principle of ‘Translation cum Grammar’ method ?

(A) To teach English directly.

(B) To establish bond or a link between thought, expression, experience and language.
(C) The unit of teaching is a word not the sentences.

(D) The sentence is the unit of teaching in this method.

Which method is a midway between the two old methods; (Translation cum Grammar
method and the Direct method) ?

(A) Inductive — Deductive method (B) Bilingual method

(C) Dr. Michael West’s new method (D) Audio Lingual method

Which one of these is related to the ‘Inductive — Deductive method’ of teaching English ?
(A) Itis aslow procedure.

(B) This method discourages the students to be mentally active.

(C) Priority of reading.

(D) The sentence is the unit of teaching in this method. E::E
Which skill is the basis of good learning of the language ? Eﬁj

(A) Speaking skill (B) Explaining skill

(C) Reinforcement skill (D) Listening skill

Choose the correct option which is not a technique for speaking skills :

(A) Reproduction (B) Question — Answers

(C) Role play (D) Model Reading

According to Thompson and Wyatt, how many objectives are of teaching rapid reading ?
(A) Three (B) Four

(C) Five (D) Six

Who was of the opinion that reading ability can be developed by reading books in solitude
with ease, interest and pleasure ?

(A) Menon and Palet (B) Robert Lado

(C) Rajgopalan (D) West

Oral reading is also known as :

(A) Intensive reading (B) Silent reading

(C) Loud reading (D) Library reading
Checklist, Rating scale, Interview schedule and Anecdotal records are tools for :
(A) Summative Assessment (B) Informative Assessment
(C) Annual Assessment (D) Formative Assessment
Which of these is not a technique of evaluation ?

(A) Appropriateness (B) Effectiveness

(C) Imitation (D) Practicability

Check-list technique is used for evaluation :

(A) results, attendance, participation in games, sports.

(B) interest, attitudes and values of the students.

(C) of significant event and work performance of the students.
(D) None
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Which one of these commissions and committees has not made recommendation to
encourage internal assessment through continuous and comprehensive evaluation ?

(A) Hartog Committee (B) Hunter Commission

(C) Mudaliar Commission (D) None

Which one of these is not objective of CCE ?

(A) To make the process of teaching and learning a teacher — centred activity.
(B) To make the process of teaching and learning a learner — centred activity.
(C) To help develop cognitive, psychomotor and effective skills.

(D) To make evaluation an integral part of teaching — learning process.

Read the passage and answer the Question Nos. 45 to 49 :

India today presents a very mixed picture of hope and anguish of remarkable advances
and at the same time of inertia; of a new spirit and also the dead hand of the past and of
privileges; of an overall and growing unity and many disruptive tendencies. Withal there is
a great vitality and ferment in people’s minds and activities.

It is remarkable thing that a country and people rooted in this remote past, who have shown
so much resistance to change in the past; should now be marching forward rapidly and with
resolute steps.

Choose the synonym for the word ‘vitality’ :

(A) lethargy (B) torpidity
(€)  energy (D) externality

Choose the antonym for the word ‘anguish’ : EimE
(A) ecstacy (B) agony Ezﬁif
(C) excruciation (D) affliction

Choose the correctly spelt word :

(A) Fermantation (B) Presantation

(C) Picturesque (D) Resoluation

‘Adverb’ for the word ‘disruptive’ will be :

(A) disrupt (B) disruptively

(C) disruption (D) disrupter

Choose one word for ‘a tendency to do nothing or to remain unchanged’ :
(A) anguish (B) disruptive

(C) ferment (D) inertia

Read the passage and answer the Question Nos. 50 to 54 :

The rich can provide their children with all that money can buy : rich food; expensive
clothes, cars and every other imaginable comfort and luxury. But they simply cannot give
them what they need most — parental care and affection on a personal level for which there
is no substitute in the whole world. These children who are brought up almost entirely by
hired attendants develop a twisted personality. Their rich, busy and well-bred parents are
one day shocked to find that their children have developed some of the traits of their own
attendants which are, to say the least, considerable less than well-bred.

......... and every other imaginable comfort and luxury. Here ‘imaginable’ is :
(A) anoun (B) aconjunction
(C) anadjective (D) anadverb
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Choose compound adjective from the phrase ‘well-bred parents’.
(A) well-parents (B) well-bred
(C) well (D) bred

Which one of these phrase has a determiner in it ?

(A) But they simply cannot give.

(B) The rich can provide their children all they need.
(C) There is no substitute.

(D) Hired attendants develop twisted personality.

‘These children who are brought up almost entirely by hired attendants develop a twisted

personality.’

Which tense is used in the above sentence ? .
(A) Present perfect (B) Present continuous ;Eﬁif
(C) Present indefinite (D) Past indefinite

Which of the following has the three degrees of the adjective in their correct form ?
(A) Simple, more simple, most simple (B) Rich, more rich, most rich
(C) |Little, less, least (D) Expensive, expensiver, expensivest

Choose the correct interrogative sentence :
(A) Had been it raining for long ? (B) What been it had raining for long ?
(C) How had been it raining for long ? (D) Had it been raining for long ?

Choose the correct option to fill the blank in the sentence given below :

Admittance to him by the guard.
(A) were refused (B) was refused
(C) are refused (D) will be refuse

‘So help me, Heaven !” he cried, ‘I will never steal again.’

Choose the correct indirect speech of the above sentence :

(A) He called upon Heaven that [ would never steal again.

(B) He called upon Heaven to witness his resolve never to steal again.
(C) He called upon Heaven to never steal again.

(D) He called upon Heaven to witness his resolve not to never steal again.

Choose the ‘Affricate’ sounds :

@A) [t & (B) [m,n|

©) Ifv] D) 16,9]
Phonetic symbol / transcription for the word ‘Guttation’ is :
(A) [ga'taf(o)n | (B) | ga'teyf(o)n |
(C) |ga'ttes(o)n | (D) | ga'ttars(o)n |

The fundamental order of listening, speaking, reading and writing should be followed; it is
the general characteristic of :

(A) Principles of selection (B) Principles of gradation

(C) Principles of habit formation (D) Follow the natural way
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SECTION - 111
LANGUAGE - 11
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

The twenty-six letters of alphabet have sound symbols.

(A) 20 (B) 24

(C) 44 (D) 45

The phonetic symbol of the underlined letter in the word ‘thin’ is

(A) 0o (B) ©

©) 3 D) ds

The phonetic transcription of ‘lung’ is EHE

(A) /lag/ (B) /long/ zIE|:'@?§

(C) /long/ (D) /lexm/

The word having the sound of ‘ea’ is

(A) pear (B) hire

(C) moor (D) roar

‘h’isa sound.

(A) voiceless (B) voiced

(C) palatal (D) velar

‘Expression should be impressive’ is an imperative of

(A) Accuracy and correctness (B) Naturalness

(C) Measurement (D) Evaluation

‘Freedom on part of the speaker is essential” ......... is a rationale of

(A) Direct method (B) Structural approach

(C) Communicative approach (D) Substitution approach
is an advantage of communicative approach.

(A) Listening (B) Speech ability

(C) Writing (D) Reading habits

Language has

(A) script (B) gesture

(C) feeling (D) sound

If a Bengali family lives in Delhi, the children in the family will learn

from environment.
(A) Bengali, English (B) Bengali, Hindi
(C) Hindi, English (D) Hindi, Sanskrit
Evaluation is done on two basics

(A) cumulative (B) terminal
(C) sessional (D) formative and summative

in family and



72.

73.

74.

75.

76.

71.

78.

79.

80.

The comprehensive evaluation involves

(A) assessment of answer books.

(B) performance in co-curricular activities.

(C) assessment of health habits, work habits, cleanliness and co-operation.
(D) All of the above

‘Class magazines’ is an example of
(A) assignment (B) project work
(C) writing test (D) speech test

One of the objectives of the remedial work is to

(A) highlight weak students.

(B) identify the cases who are lack in studies.

(C) spot the weak and punish them. Eﬁ
(D) make the weak students aware of their backwardness. =

Remedial teacher should keep a liasoning with the parents to
(A) ensure the weakness of their child.

(B) help in identifying the cause behind child’s lagging.
(C) work in same environment.

(D) rebuke the students.

(Prose passage Q. Nos. 76-80)

Almost the whole village stopped to watch the big boat being built at sometime or the other.
No one owned such a large boat or even worked on one. Perhaps they were jealous and that
was why no one had a good word for it. They did not want to believe, it would do well at
sea. But, they, in a way, were proud too. Building a big boat like this in their village was an
achievement.

Do you like to eat a pizza ? Do you prefer a hamburger ? The two questions can be combined
using

(A) and (B) or

(C) but (D) that

I am sure. It is true. The two sentences can be combined using
(A) so (B) than

(C) but (D) that

Many a man done this.

(A) is (B) has

(C) was (D) were

Gold and silver precious metals.

(A) is (B) has

(C) have (D) are

e no one had a word for it’ ......... The underlined word in the line from the passage
stands for

(A) the boat (B) the people

(C) sea (D) achievement
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(Poem Passage Q. Nos. 81-85)

‘Weavers weaving at break of day,

Why do you weave a garment so gay ?
Blue as the wings of a halcyon wild,

We weave the robes of a new-born child.’

‘Blue as the wings of a halcyon wild.” The figure of speech used in the extract is

(A) alliteration (B) simile

(C) metaphor (D) assonance

The rhyme scheme in the stanza is

(A) aabb (B) bbaa EmE
(C) abab (D) abba a@%
The plot of a story may be

(A) comic (B) tragic

(C) satiric (D) all

Dravid was the wall of our cricket team.

(A) Simile (B) Metaphor

(C) Personification (D) Rhyme

Inanimate objects and abstract notions are spoken of as having life and intelligence in
(A) metaphor (B) simile

(C) personification (D) plot

You be ashamed of yourself having made such a comment.
(A) may (B) should

(C) can (D) could

He chased the thief as far as he .

(A) may (B) should

(C) can (D) could

The car seemed to have

(A) Dbeat the bush (B) tried to pin

(C) vanished into thin air (D) boarded the wrong train
‘Drama’ originated in

(A) Greece (B) Rome

(C) TItaly (D) England

An ‘octave’ is a stanza with lines.

(A) 6 (B) 14

© 12 (D) 8



61.

62.

63.

64.

65.

66.

67.

«ue - 111

HTHT - 11
mﬁmm:uﬁu
ﬁw:w@mw

‘éa:rraﬁ:m’amﬁéé?ﬁw—

(A) TF: A 37T | (B) <T: TAHS: 31T |
(C) ¢a: TeFdH 3 | (D) <F: TTH 3y |
“ehll T3 gTSI AT HHAT TN -

(A) 0w g (B) <hdl S 3
(C) i 3= (D) A 1 3=

“freep s WX sy el & |7 3T TEpATIaTg: O -
(A) Toreres: frss wgpeafa | (B) Treren: farsam wgpeafa |

(C) Torerss: farsdw wgpearfar | (D) Toreren: TereaTq depeAfa |
FreferRadareriy 31 are fry ?

(A) g e formf= | (B) &fi: fav=ranyta = fawmf=y |
(C) & frwermytq 7 fermf | (D) &f: forwermedy 7 fawmfar |
et T 7 TR | feremgfd: weofir |

(A)  STCHAT JATHTH, (B) ATTHM

(C) 3TTemA (D) 3ATeH:
HhUArae: T TIea A fopy 7

(A) SRty (B) drg-faarefafe:
(C) SATTEAT: (D) Trmfafy:

FHYTRIN &I HE - 31 Hgeanfed ?
(A) & (B) ST

(C) & (D) 9=



68.

69.

70.

71.

72.

73.

74.

75.

FrgIfIRgafafyy wRmmafafrte -
(A) UTSTEATIY:
(C) UTEATcHH-3IUTTH:

(B)
D)

Fratefafy:
e - srerem

“veeae: Uerdiie: famrgareae” sfq e faed ygewm ?

(A) SHE
(C) UTSAGETh I

arufera SragrTd aitad+ am fog 7
(A) Al
(C) geAtaEH

‘sranefafer: gfa e &: fafer:
(A) TSI
(C) wuegiRfaty:

“Tearg-’ 3fd shigeht ufshan stfe 2
(A) ¥"dd
(C) &Gl

“ITATAE S = T 3f fopd ?

(A) Toremorgm
(C) Trequrfarfer:

FNTARGAY rerEme e -
A) U=
(C) eafa-3iierEg=y

“HTeTTcehL:* 3 hed WT: ?
(A) HeArgTe
(C) TeorgmoTy

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

TSTATIIE
HLEHTHS — TN

Jrferm:



FYNARGTH, SIS JeT: (76-80) THTEAT: -

T THYH: TR AT | Taeef 99 WRAHTAR feTgam: | I STTeh ¢¥T: Ta=: ST
TG I ouETd: gfEd: e | mErHrTHl, Ao, AiSaHeTHIg I,
TERICANTEUSE: SACH: HEl=: UPHe: HaR: WAuyf YRaey Wa=drn: 9Iem J=tig
HECTI e | g2t Sfifer: ST StwAvfH = i TSR e |

76. IRAHTAN 3= ol faufead: ?
(A) g (B) wHi
(C) el (D)
77.  ‘Pad=d:’ IA h: TAI: 7
(A) 79 (B) =
(©) (D) =g

78. AR’ 0IF HOINIeG: h: ?
(A) B) T
(€) 3| (D) T

79. UTHHAT:’ 3 h: GHIH: ?
(A) E5:auE: (B) ToEmmE:
(C) dcIeNHHTE: (D) IERiYEEHE:

80. Sl wa Hifd: 3TeHTeh Weld) 3ol {@feha—Te fehH kA ?

(A) TEIEHHRH (B) TSNS
(C) ATRTIThTRY (D) HIRREHH

frfaRad wemem smatiee ST (81-85) FHISAT: —
AT ITETE fogr T ey Wataay |
g Fuia sty afer g — so= afetel =ehifed 1|

81. “auiEgEASi g &: 3T 7
(A) TEIHHIC: (B) YIEIHRICI:
(C) IUTTC: (D) SIcaTesT:



82.

83.

84.

8s.

86.

87.

88.

89.

90.

‘IR — TG~ FfeTet Teh1ier seadl fersreame fopy 2

(A) Wq (B)
(C) W& (D)
g 3o fory forgm arfeq 2

(A) zr%ﬁﬂ (B)
(C) TqEhicTEH (D)
fogr’ 3o &% Yo ?

(A) (B)
(C) = (D)

SE Trfad 7 b o 98 7
(A) g (8)
(©) wEE (D)

Tfetem
EEITS]

e (30) i vrege waTfor e forg yaf< ¢

(A) @1%1% . (B)
(C) YHhicrs (D)
HTEYSREATIOT ShT T waf= ?

(A) 3umlg (B)
(C) wumlg (D)
TN IR fopy 7

(A) TreRT (B)
(©) g (D)
T Ui hfd WeT: RgTaenigendar |f= ?
(A) Tafa: (B)
(C) gre (D)
‘WUT Te: aﬁaﬁqa TN -

(A) R TE: Hieq: (B)

(C) FThUT He: Ti: (D)

gfeers
EARINE]

3Tmfe
wafe

TAqA

HYRUT T W:

c

FHRUT FE: 1o



PL-2 (48)
I -
m-lJ
|
St eln el Ut £ s e Ul (30) U FEu
E Sz L e £ U s

e Jed e
F® A@A)
+ (D) » (C)
EiE P
W e
el (B) (A
AN T (©)
TS
Ul (B) =B (A)
Uiz (D) ()
< N PR S PN
bty (B) LSEEE ()
Lo Lo (D) S (©)
‘Lv'w”{“.lfj/ Kd,{;ﬁ”ﬁ!b',/
o tytn K554 ) (TS (A)
LS du g o) S e (©
C Ut LfMW»L&!}A
di  (B) e (A)

i (D) S6 (C)

.61

.62

.63

.64

.65

.66



PL-2

sestel § bR 5D A S S s

=\
b Fas

(B)
(D)

Gy (A)
£ (C)

St L LS e (e 3 A kil gt vt g i G S5 P 7 2

4 g

=675
=L

5

b4

e
e
“

E.=.El_
e

SN

b.ac’/u//)
e S

o
e

(B)
(D)

(B)
(D)

(B)
(D)

(B)

(D)

(B)
(D)

SR OION
=675 (0

o~ = n;?’fdﬁ(}*‘ég}f/;
U@
</ (0

g FLE
cLE  (A)
£ s (0)

A A
JF1(©)

PR LU V%
S5 el e bn
Sro S Ehibe oy

F @
S (©)

.67

.68

.69

.70

71

72



PL-2 (50) B
fe el Ut A5 T3
bz e B b bl
STk b e ULk KU
< B S G
St D) g ©

L LY
AL ®) PLLJF
P AEL AL D) e ml JF(©)

e FLL s
‘,1/’”9)1/5 B) e WPl (A
S e o ) S AFelied (C)

s e R L (806 76) ey 5L LSS5 B
& K/Lft;/ff‘a ST Jgiz/(/‘ ol U = (y’/('L % JZE L
Flolie b td B 6 Ta I e d TN LS U Se JB Ut
PIFE LR e S s st 6 G Y12 Al bl € S K
P LS A€ g Pl B e For $T & 2y Js
N AT P Ay FSE o Ui S AR AL Ry A I Y

Wb FUBTEIIR Al et S A AL

g LWL 6
G (B) 57 (A)
sy (D) MeF (C)



PL-2

Aol §od (B)
Oz f (D)

<l (B)
Gy A )

A= Sy (D)

eyl
iJz B
K e Sty D)

13 (B)
e (D)

S8 B
JFSE (D)

Jb =S (B)
VESZ)

NZ@/@/J;CDU’)Q;/JMKJ/;
At )
il F ()

o 2K sl
GAsE e (A)
€or La? ks (C)

= QJ/[JJ)TJI,@{;}’JGL//’ .

Ske @)
S U (B) 11 (A) (C)

UL w SO 20 sl et oS F7

A »)

L L Sened S8t (©

A v J/"f’c 9 J"')'
$T (A
tr (©

?‘L Sun dk& d/,j'fa'/)' e J"J(u(u/'

S rf”}m’ (A)

JJF(©)
w5 [m
2T )
g fEL e
s FiE (A

a7

78

80

81

82

83



PL-2

e

-~

ds
s

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(B)
(D)

(32)

I‘L‘U:w‘*d’j”cuﬁ(_)’:}
Wl
s A1)

?UZ(Q'U;J/U(J’}
£ (A)
& (©)

%J&JL}”’”J’L
WL & @)
Gplsi~ (©)

‘LM < (ﬁzl,w s |2
7 (A)

& (©

< Je e S
B ()

e LT (C)

e FEST e el
S (@A)
SrS (©

e e Fere st
ST (A)

Ao ©

84

85

.86

87

88

89

90



61.

62.

63.

64.

65.

66.

67.

68.

«ue - 111

W — 11
fash
Fot 30 Gare anfet
ANE AT H0T ) T |

ufiat 379 @I et St 31eg SH 3R
(A) Toftar 37 @E< (B) TR 319 @rer |
(C) Toftst 31g @ru oft (D) Toft 379 @e |
‘I AR A1 Fo7g 3R
(A) YR B) T
(C) g (D) ufeem
et foremn —

%E

. & ae (i) e
2.  HErS B (i) i aEI

3. HET W (i) & Y
4. THmIEEy (iv) IETH
(A 1@Gv)  2Gi) 3G 4(3)
B) 1() 23Gi) 3G)  4(Gv)
© 1G) 23Gi) 3(i) 4(Gv)
(D) 1Gi) 23Gi) 33Gv)  403)

wIfE =i 7 ¥ =) ST vl 7 ge 381 Tt 3mR-

(A) R (B) =«

(C) el (D) T

S Eig 5 aney g @ </ amadian @ fera gie -
(A) e (B) dTTReh &g
(C) wq (D) ferehreret g
TR T3 Tfest whet & et @ forao gfe -

(A) HFig=g (B) dmTieh &g
(C) T (D) difgeie &g
TSt g9

(A) 39T AUTCS (B) AW AU<E
(C) 3 3Eh<g (D) T3
@ S dleh] TEER 38 I7 7 39 Mifed St oo firet off -
(A) Tfegfra (B) BUEBM &

(C) =4 (D) @t =



69. T SITEU @13 U1S S hieg fewd 01 Siget garet hiatf — hiaaf aregf S e s=ify

3 @i fregor i Aepge QU oA |
(A) Sarst (B) ATl
(C) gareft (D) WIS
70. 9 USATd, ¥9€ At s (et gare, same (foifad) 1 fepeg amfefy |
(A) BB (B) TIeBTsY
(©) fomy . (D) 97
71. U9 T ugEH [ERISEARCEIEAROE
(A) SfeR (B) femmft
(C) g (D) UfaETes
72.  WTST S SEHTA R Tk IR -
(A) @@ (B) =i %ﬁ
(©) fireh (D) w3 :
73.  gHfiaT @ w@ur o 120 Wi 129 gig feramsha a7 91 Afen aw -
(A) FTIR (B) Hm
(C) &N\ (D) HH=
74. Ffed Afeg miesre: T anfef -
(A) femq (B) Fuv T fgay
(C) guq (D) @ew
75. U1 L A9 TMeRTS01 Hi el L TR H HeEl Sft foremena St fershrat forw o |
(A) Heu (B) Te&w
(C) =N (D) gHT

Bfesi 2fertl uedl gaettr S s fgt — (76 @ 80)

TR @1 11 Teretfiet gwma o femgf S witng divel worm gsamt a2 | fed &8 e sheftar St
IR W GARE 75 5 S Toht Al A=l 3118, Sfe H oH Wed S HAT1 361 R | &9 fag.
fe orer & et T et wa ® T Rt dfest a1o @ ufed et STfef | I5eht et S =il 52 |
Itef, Sifg 7% =1e, TW 91e, I 91, |TierR 91e, eielial e J&T e | waa T Sarr s
Hex, #ft Tt Hex U foat wer S aw e el | I wee @ fa wfeg o | fed stfewa
500 Hex 3l | S gftg sren wet ufgsl o uTur 3R | e Wed S Seled kR I gier T
AT IGT IR | Thel, Tl T qied v ur f& Hieh o aiespfaes rishy T wreraifed s afey.
anfefy | &7 Hish & T3iel Tt 3R | B W1 gt T8 IR U3 @ W 83 et 9wl 3R |
TR Tl § @E 38 Tt wat g | ufestt st wem feft amg | e | =i § sepfagf S
Toreror feau @ o<l oTg | fosh e gl dsare § faceft ot a fou u ToTe™ 51 38 %9 @1
TR Tliel S /10 wfeol wyf &1 g Het © write forar g $ea el | Hedl gooht S Hell HeM §
Sl 3R | STST G, @ISYT — N30T ST T, Hehdl, AT AT BT A BT 0ol H gal 378 | Sehl T
AT STSTH FHUT 13 $a1 3718 381 Tt STeL AU Sial 3118 | Toht 3fie 1 goit &8 ufestl a1 @ fas
H3 AR |




76.

77.

78.

79.

80.

81.

Hfom 2Rt STt e 31T -

(A) e ardn S el (B) STEuITE I Hell
(C) TR HAl (D) <L S Hedl
SR Wl TGl 3118 -

(A) 3% (B) dum@d

(C) w=H (D) T d

ST Gg ST Hel Ufast e 910y 37 | e o s wer 3 -
(A) s (B) @Y
(€) =A™ (D) 39 qElte
eTifed’ S a1eg afee 38 -

(A) =W (B) Sl
(C) <erHd (D) =THeu
IR’ AR S 7T 3718 -

(A) foae (B) fe @
(GECEERES (D) wrg

&1 e ) Gerert S s foral : (81 @i 85)

@RI @R F FATE | d BT S 74T,
|10 @ FER T ST Greldl G |
Haer €1 gt Tt T gAY °F 38

I afe@ amg @i ufest a1 AegieT s |
AR e g e R o | AT TR,
Tftat g 5 @ o1 foreft T =

STt | AT, St | 37E, 91 § 9 f q A,
T AR @ S H A Sl T 9T |
e # weg{HE b, fete d srer,
< ¥ gfegfr a s et s T |
FreXdl, Taetdl, SiHedT, qfesdT arl,
TS BT TG Y137 A3 T8eh |97 F07s |

Teff shferar ST 3T TR -

(A) TS A1 (B) haet Sl T
(C) THIST N T (D) | ST

2
=



82.

83.

84.

8s.

86.

87.

88.

89.

90.

FTETS” AU St T 3718 —
(A) @

(€) g4

“f s T o A 3 31eieRR 318 —
(A) ®Uh
(C) ITH

shaet il g e e fgu o -
(A) 3ITSTE WU ST
(C) Toeta Tgur sft

geed  mgesfaed |
(A) HegfEd, wegferd
(C) I, Tyl

ARE3T I SIS MR -
(A) dgcUA
(C) I8AFTA

e @i g foret 9=t 3R —
(A) R fafy

(C) oA feafa

Feftrer @ AR w31 Sa1 3118 -
(A) TE

(C) Hifaet

T Sff fafanft T |
(A) 3 IEH<CS

(C) wgugd

(B) Tl
(D) Te

(B) H<g
(D) e ghf

(B) ¥ W@t
(D) TEan wgur st

2
aC]|

(B) WsHHId, hmeral

(D) AT, hHACT

(B) HWTHS
(D) 9%99H

(B) 3wet fafy
(D) 34 fefe

(B) =9
(D) #sd

(B) IS
(D) SuT

“TfYefl <FeATE 1 AT TS, T H1S © el S gie] HAfeere] Farl |° 8 FHlie 318 —

(A) e
© =

(B) TR
(D) gum



61.

62.

63.

64.

65.

66.

67.

68.

ga— 11
At

fer i3 fS9 I8 30 s I3 |

H'J YHS IS HIT IS |
foHe3 wddg &t famH J
(A) HIE WIS (B) WITIE MBI
(C) »3IEwBIq (D) HUIS MBI
LI B JIHS paT J
(A) FTIIT (B) feduargter
(C) =Tdar = (D) faATaTgT =T
et T ufosr adtaa 7
(A) TIIHS (B) ¥g®Y
(C) IIa%d =2 At (D) ISHEI=
A 3T, gafamrr € |
feSHI T gI far™ € |
It e, Hy feyram |
fage &S urar |
Sa3 39 fan 2= <t STa9s I ¢
(A) =TT (B) <uet
(©) &3 (D) afg3
YI& F913 < Tl <9 Y& faaz Fhas tm daeT J
(A) WSIHS (B) AEYES
(C) gHfed (D) HIHISt T &
Joft Soe BT IS T :
(A) mfes3 (B) yHgssr
(C) HIB3T (D) fe=T9d3
“H3IH QI J, 7 fa g9 nigages ot e T 1”7 — €3 sus far feees = 3 ¢
(A) 3. I3 iy (B) Y. ydsfry
(C) 3. 339 fRw (D) 3. A3 filwr
fom niraaw fevree @, fagas BF 239 Jt wigdds dda™ nd=8er J
(A) qs‘ & (B) % fou3
(©) 3z fedt (D) wisfeft

d3- 111




69. US-YF3d < HUES 3 YIHe & YSIS q86 J :
(A) US-YASS T AU Set i ST 9T AET T |
(B) US-YH3d T YIHS HIAG R T HAgr It Jer Ifier J |
(C) US-YA3 < Hed 9T ITSHA 3= |
(D) VUS-YA3 T HS frimfar 37 |

70. Hendt fedft s AEfus T :

(A) = Hadt wifent (B) THM
(C) 3zt fafam (D) Y3 T TEPHIHA femdHE

71. I Tt fS9 Hed f8u3, 79 3967, YFOUded T96 3 Maee T34 a9 BEl W3aT f 83
Tt T 1 a3 I86 g7 wiftrmys © fam fruis o fagd J8e 3
(A) w3se g3 (B) wefed3 = fau3
(C) Sevse s (D) s WAt = T3

EE
el = e ~ o o= o =N ;E%
72. WS Wmmug »idt I wift 978 & HY €91 7% AHST HAET J
(A) UsTITSISA | (B) WIE-MJG HHI |
(C) <HS-HIEAUS TN YWdl JI | (D) H'33H 39 niga<e 994 |

73. 29T Rt HIS AITed ATUG J
(A) = (B) =&

-

(C) vIe (D) &I

74, WSS N IASIHI BT 5S1 J

(A) ot fifemr (B) Hfgza9s
(C) wogst (D) Jféar maS

75. WIS T yfdfon™ nignd HaTae 3% < faus 36 deg yamua Aefus I5
(A) g, g<o, femr-=ng
(B) g, fagiz, Had
(C) T Gom, fiue wigg=, feead Ufgedss
(D) five, s, Haer

(76-80) J& fod U3 S Ug I AT 499 76 2 80 < €39 =8

et Afenarg et fofd-9a3 = Afenrsrd &t J, fm 397 o3 &4 ferg JaeTse I6 | fea 89
s Afemamg T faagT »muS wig fa93 &9, a™H AU, 28 89 T Hagy Aiet §57 J | fondt uge
et fegg A9dt ff a9 HaeT I | g3-8'3 © ey fen Afenag & Ft wiem g8e it /it | §9-He
Hi=s, 5 JaHT & ¥t w3 uaBuarg <t greaT for Afenwara &t gfonre I | Mids yay s yardt S5t
for "fenrarg § fegn *9 ot I | =& wfgnmamg Yardt Afgnmamg € widl fear-féar auer J |




76.

77.

78.

79.

80.

g3 T feddtmee J :
(A) nig3
(©) fonre

NPT BITJ IfeTHIC T ;
(A) wIUg
(C) yusa

TS wee T At govigEa He T ¢

(A) 3T, gal
(C) 3w, forags

‘O o feddftmee I :
(A) Vg3
(C) &=t

‘@I Hee o forsdt f8ar

(A) =53
(C) =&

(B) d5t®
(D) fe=Tg

(B) F=e
(D) Y3IBuag

(B) W, 3T

(D) g, yFEt

(B) T
(D) u3

(B) B3
(D) MIoHs

(81-85) J5 fed Irfe-de S UF I AT B 699 81 3852 B33 e : -

81.

WTEPT USes €18 o U6,
nid fRF S YR 3Z He |

e W 3 Ha yt 38 Y,
IS s gt e ig ve |
dgAAsdI Az fegz e |
I HIHE i & Jifent 2,

IR afe-deTraeed:
(A) J=Eho

=

) #3

(B) afg3
(D) TJ97



82.

83.

84.

8s.

86.

87.

88.

Ga3 afe-d9e 'geIfamrand :
(A) Higan
(C) HissHan

Saz afe-deTrafequd:
(A) femr
€) &

UBSE” HES TTIE J ;
(A) S8
(C) &ft oot

‘I HIL T 0IE J :
(A) IHS
(C) IfImmar

(B)
(D)

(B)
D)

(B)
(D)

(B)
(D)

I3 IH

Jd<d dH

I

i A A9 &7 IfIT T B M AT TSI HI=TTJ

(A) TG He I
(C) Yeueder

(B)
(D)

Ot JI&T
Hg<

{391 S &7 St FaT ST I — S T HA MIT T ¢
(A) I3 736 II6 53 IH THI 957 |

(B) 3% 396 5B dH HI 9567 |
(C) HIYII& &S o fHT 933" |

(D) HIT I W3S IIs 3 96T oH TAT 9357 |

A) & (B) I
© = D) =

‘OF6 fiuaas i, fer STt UR I famr I’ e R 939 e WU "I W MEGHI TR J ¢

(A) THAIs =< (B) WUGs T
(C) Ymeaea Td (D) AUS3 T
Ut g Sy @ S 39819 T :

(A) 33T, IIH, TafamT |
(C) fafoT, IaH, J337 |

(B) &3, fafamT, S937 |
(D) d9H, I33", fafamT |



61.

62.

63.

64.

65.

66.

67.

N
GUNL— 1T
dpxRidl

2L V{SHL §EL 30 UL 6.
€38 UL or Lol Al s [ovld 6.

‘gL 831 8R” — Ml 58 [AGGA & ¢

A) (s (B) =l
(C) ™ (D) sl
RgAMill HUL 23U AISRIUCL UOEIA SAL UOEL SEUU B ¢
(A) ™ (B) dgeid
(C) & (D) uRUIdlA
‘slea’ 2008 s¢ iRl AL 9

(A) sRl (B) 3w
(C) ol (D) gl

[ene{fRAML AstiFs 24[E0R (s Wiz 56 2alBls Wl 2y Gualdll oidl 2 & ¢
(A) el ugld (B) oyl ugld
(C) URR wgld (D) del ugld

ALl 53 Hsd Al BelszuL 2l ¢
(A) sAdRds (B) 2oEsia
(C) el (D) slu ey

PLuisHl Alzs, kA, ddlsaA el deieafis Ugftil sl Slaieun snddl ugil
& 9
(A) Rl 5led (B) s 5l

(C) i Slaied (D) @vi- slaled

Heuis sl s s ¢
(A) WROUBA Y. (B) sBAubus.
(C) Sdaall usus. (D) wsrfrasaadl uEu 6.



68.

69.

70.

71.

72.

73.

74.

75.

[Rotaiicns Bl HAlEL £ 3 HI2 Bl USIRAL UHIAL UAL SIUHL AL B

(A) zstusl (B) t-lcHaledl usll
(C)  AldetetRicHs sl (D) dslEus usll

AR 5 50121 Rlats R sA12L A2 9
(A) R HelsA (B) AsH Hls
(C) uxlau sui2l (D) offs sA2L

[E] 8]
T
AR AL AL ALRURRAGL ov ULl
(A) 5851 24 OURIERI sl (B)  ¢lRel 2 WRe9EAL 2L

(C) sl CAelREL 24 GUML (D) GuRlsd el

vel A Gr2u1R0L WAL sRIlE dig- UL 5L AL YHIdeL 2l 2 7

(A) ARGl (B) AR
(C) €is (D) LUl

AL U] 53 [ttt =L 6 ¢

(A)  slel2iets st 2 Adszlla Sldl .
(B) el [RlatsHi oL~ [Astir st $lg o3l .
(C) ol [RiasHi HAlldstiA stiA o3 2.

(D)  cunRies [FRiucsl i 215 8.

HICUMIAL WEA YRS ollel @etll v Ul

(i) ey (i)  oti=ell A Hgel
(i) (AR (iv) &ML

(A) (i) (B) (i) 2 (ii)

(C) (iii) 2 (iv) (D) (iv)

[R1ats 2acis gL [deuell Heuls s waldell s 25 © ¢

A) [Rlawe (B) Aslewre
(C)  SHHMES (D) GuRlsd oiell

-~

ARl 24245 AlsRAUAL AAAL
(A)  URALAL AL 5L (B)  GHHL AS520L AL UHRAL.
(C) AL ARG ElA 5, (D) 2islow g el WA 8.



AR AU LUAAL AR U3 AL 76 2l 781 orellod AL :

DL 58] A 53l A sl Blslcd G{lBHA o A dl WL AR Hidl d=TE 209 dull
woAld dld. (e ollsuddl 2s, oAl Fiyedl, ol olgd 2 6llsi) drdsiid 3t
Ao (A HIZ SHUA PAUERULA B2 61l s 9. DAl PR ARS[AAL AURRAGL el HePYRMAL HLcll
AR5 AL UA UOT{A £51A.

-~

76.  sid AL MLl dRTE 2AMEL S 2AL0RA 1 9

5 L i
(A) AR (B) obuA =T
(C) AMs (D) ARRAIA

77. 28, [ARYsdl, eI A drrdsiid el Sl ARl URiov(d HIZ SHRUL RAEIUIRL =8, ot Yol

-~

1301
(A)  Mde odvw (B) el $™L
(C) 19y (D) gilu-

78, “HELUINW [UCEHL SUL UHIU S
(A)  ss UHRA (B) idledld
(C©) dRM™ (D) s¥uRY

AR AU E UBLLLAL ALAR WAL 79 2] 80-LL oellol AL ©
2l 355 Bl BasHl gls
€9 Qs -Ue A sHgHAL [AasHl elszl.
Relierd 1] 52 B o UL URGUM B,
sldR € s1¢f araflell vissHl glszL.
79.  Els3L ML SUL AU B AU S ¢
(A) &di-l BasHl (B) uxl2A-l »asul
(C) &dlA-l »easul (D) 2RIl BetsHl

80. “wRuuH’ Uos [l aveudl.

(A) el (B) (et
(©)  Ayuslc (D) si¢ (et el

81.  Slehunl e, drq, 22, Mld 2 Gl AHA 3 séa ?
(A) sl (B) Ud-I1H
(C) [l (D) Balazmel



82.

83.

84.

8s.

86.

87.

88.

89.

90.

‘Bl gl o1 sl A2l disuHl Bulaamel s 6 ¢
(A) Gl (B) =tloll
(C) sdl (D) -l

‘QIR1AL (351 U AURL AL HAESIRAL USIR QUL

(A) Quf (B) @\{'H\l mym
(C) Bzl (D) <ldzs ‘@’%
GUMIML O AL, UAOELA FLSelle, SIH $cll Ue 3] 58Ul ¢

(A) [Hamel (B) <

(C) UAlovs (D) U™

-~

A2l el eyldmisio s 2UAL
(A)  §Ws A, (B) HERIY dA9¥U-AL §UR ELERL o= IRdL.
(C)  lE1RA HERPY HOCL 2L (D) ot¥ AU AARL 531 el

EUREL- SHL (ELAL GLL0LS WA DULIR 526, ACEHINL SIU 8 ¢
(A) 5000 A4l (B) 3000 20061
(C) 2000 A4l (D) 1000 20061

oy cllzd s BaRL 2L s [ABAvAS 01 Sl L 53 ALz s ¢
(A) g A (B) uYsc Al
() g (D) 3 s

“§ OUNSL R RS ERIASIlRL dlsRAAL SULUSRAL S 9
(A) Mz$ (B) Yrt: WS
(C) sdR D) sl

cicllt (el (s361) AL [detlsd Uea eveudl.
(A) AL, 4, U (B) ¥, A
(C) A, ™2 (D) ol 2t

‘5 SLTl A5 Y. AL AL AdU UOAL
(A) sd (B) sloll
©) 2l (D) v



SECTION-1V /@Ug - IV

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.
The candidate has to choose either IV(a) Mathematics and Science OR IV(b) Social
Studies as selected in the Online Application Form and answer all the 60 questions.

39 @US T g1 3UWUE YT IV (a) iU qen fomm ua 1V (b) SmiiTeh 215999 & | SH1 SUaEvs) &
Tl | 60 Tgiehed 1T T3 7 |
witeqreff s TV (a) fora aen fagm srean IV (b) wmnfsres s1eemm, faeht w=@ Stiaeega aet-43 4
fopan 2, o & Torelt ek Sum@ve &I 1 & TE Bt 60 T HT ST |
SECTION-IV(a) / @UE — IV(a)
MATHEMATICS AND SCIENCE / Tlﬁ'ﬁam'%lﬁ'ﬁ

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

T EUE W %o 60 T 7 | T sreafof 3 gw forvar o1 5 fopan 2 32 nft wem e et 2

91. In the given figure, the lines XY and MN intersect at point O. If ZPOY = 90° and
a:b=2:3, then the value of Zc will be :

ip
M ==
b
— N —
[
N
(A) 90° (B) 126°
(C) 144° (D) 150°

fe T fom 1 TEnd XY 91 MN foig O W Widesg &l & | afg LPOY =90° 3R a:b=2:3
B‘T,?ﬁlcaﬂqﬂﬁ"ﬂ:

+H

ip
M

H
L 4

(A) 90° (B) 126°
(C) 144° (D) 150°



92.

93.

94.

9s.

96.

If all the three sides of one triangle are equal to the corresponding three sides of another
triangle, then the two triangles are :

(A) Perpendicular (B) Congruent

(C) Parallel (D) None of these

afe Tk Frygs i it o, R gt <) e i e % swe E, d S By Ea E
(A) wTEEq (B) HatmEm .

(C) &R (D) T8 ¥ s T4l &=

The length of a chord at a distance of 6 cm from the center of a circle of radius 10 cm is :
(A) 12cm (B) l4cm

(©) 18cm (D) 16cm

10 =t e amel 9 o 5 § 6 Seiiet g o o Sffa shl oers & -

(A) 123 (B) 14t

(C) 18aHt (D) 16 &

If the perimeter of an equilateral triangle is 48 cm, then its area will be :

(A) 64+[3 cm? (B) 5542 cm?

(C) 324/3 cm? (D) None of these

¢ foret TwaTg VS 1 TR 48 THIS &1, I 3HehT &%het I -

(A) 64+/3 Tt ot (B) 5542 =i ot

(C) 3243 ant@sft (D) 3T § IS TE

If the lengths of the diagonals of a rhombus are 10 cm and 24 cm, then its perimeter will
be :

(A) 34cm (B) 68cm
(©) 52cm (D) 56 cm
e T TH=g % fershull <Al damgat 10 Aitfien 37X 24 T &Y, T ITh! TiETd 1 -
(A) 343 (B) 68Tt
(C) s2@H (D) 56 &

A room is 12 metres long, 9 metres wide and 8 metres high. What is the longest rod that
can be placed in it ?

(A) 29 metre (B) 17 metre
(C) 15 metre (D) 21 metre

Teh U 12 et ora, 9 Wel i1 a1 8 Hiet a1 ® | 394 s 4 ot fopal ol g Wl
ghdl g ?

(A) 29 #HiX (B) 174X
(C) 154 (D) 21HX



97.

98.

99.

100.

101.

The main objective of tabulation is :

(A) Presenting the data on the basis of their characteristics.
(B) Presenting the data in a systematic manner.

(C) Presenting complex facts in simple form.

(D) All of these

AROf T g&T 3¢9 1 -
(A) HHhI I ITh! TTIATATST o YR T I BT |
(B) HHhI I shHEG FATId Y H T BT | EE
(C) Sfeet aei =l el €9 8 T T | Eﬁi
(D) &t
The mode value of a series is :
(A) Intermediate value (B) Most frequency value
(C) Minimum frequency value (D) Marginal value
fopeft Sroft o1 geteh Tod BT 2 -
(A) TeEd o (B) HaIfeh SHFRAT I
(C) —JH IIRAT Hed (D) HHT= qed
The coordinates of a point on the X-axis are :
@A) (2,3) B) (0,2)
© 2,0 o D) (LD
X-3181 T ferq faeg o fcemer &
@A) (2,3) B) (0,2)
© 2,0 D) 4,1
The probability of having 53 Tuesdays in an ordinary year is :
1 2
A 5 ®) 5
3 4
© 3 D) 7
Th HIUROT 9 § 53 TR g oh TTRIhT & -
1 2
A) 3 ® 7
3 4
© 3 D) 5
Which of the following is a teaching aid of Mathematics ?
(A) Napier strips (B) Logarithmic table
(C) Geometry box (D) All of these
T 5 & i fegor <Al w@TEe S B -
(A) e ufgat (B) O Tt

(C) anfufy st (D) I oft



102. Which of the following Mathematical statement is true ?
(A) Evaluation = Measurement + Judgement
(B) Evaluation = Measurement — Judgement
(C) Evaluation = Judgement — Measurement
(D) Evaluation = Measurement + Judgement

feadasr iy s aa g ?
(A) ouTehd =TT + for (B) oo = A9 — fog
(C) Hourehd = Tl — mroe (D) HeAThA = HTo = fofg

103. Which of the following is not an Indian Mathematician ? E:E
(A) Ramanujan (B) Brahmagupta ;E'%
(C) Aryabhatta (D) Pythagoras
1 1 9 oo T e T8 |
(A) THIESH (B) si&rqd
(C) g (D) AT

104. Which of the following is not the type of cognitive objective in Mathematics teaching ?

(A) Knowledge (B) Understand

(C) Skills (D) Application

frferfiaa @ & =i a1 wfora freror & ST 329 T U TR AR & 7
(A) TH (B) 3rEEg

(€) it (D) s

105. Which of the following is not a method of Evaluation of teaching Mathematics ?
(A) Supervision
(B) Interview
(C) Teaching model created by student
(D) Dictation
et 3 & o 2t i Rron 35 geariehr <BY farf T R 7
(A) Tlego (B) TR

(C) ®HigrisAm e atedr (D) Yfoora



106.

107.

108.

109.

Mathematical statement whose truth has been proved is called :

(A) Theorem (B) Axiom

(C) Conjecture (D) Postulates
T e foreh! Tl fag s & TS ], hedan @ ¢
(A) T (B) ffed
(C) Fier (D) TRl

Main objective of Geometry teaching is :
(A) To teach the use and measurement of mathematical tools.
(B) To develop creative imagination in student. &

2
AC|

(C) To develop the power of object transmission in the student.
(D) All of these

T@TT f3reqor 61 e LT B

(A) TIOTE IUShTUTT o ST TS W9 <67 T T |
(B) BT H T&HTcHS hedT Ifh T TIehTd T |
(C) STl B awg N7 Irferd T foehTd i |

(D) ot

“Child is able to Recall definition of Rectangle.” This statement shows which learning
objective ?

(A) Understanding (B) Analysis

(C) Knowledge (D) Evaluation

“TTeTeh 3TA hi TRATHT T TN L T |7 I8 A i § IAH Iexd il TSR
HAT R ?

(A) IHaEIY (B) Tergetwor

(C) = (D) WA

A child is able to construct a triangle on the basis of given measurement. Which main
objective fulfill through this activity ?

(A) Receiving (B) Responding

(C) Valuing (D) Skill

T STeTeh QU T /1Y o TR X Teh 1T hl ToHT L UTAT & | STcTeh <l 39 Tarale gri fohd
T 38 1 Ofd At R 7

(A) T&m (B) FgTX

(©) T (D) HR



110.

111.

112.

113.

Children with strong intellect do not have qualities :

(A) They are more curious.

(B) Their area of interest are broader.

(C) They are emotionally unstable.

(D) The knowledge of reasoning is visible from young age.

TR g a1l STeTehi # 78 101 TE B & —

(A) A ek e e £ |

(B) el & 1 &1 STUh BT § |

(C) 3 FTeTeh GaTTTeneh ¥ & 3TEUTE BId ¢ |

(D) 3TeUTg & & b Wl b1 T g B 2 |

If 30 +8) =27Qx 1) then the value of x is :

(A) 0 B) 1
©) 2 (D) 3
Jfe 36+ =272+ DE A x FIHAZ :

(A) 0 B) 1
< 2 (D) 3

1 1
If x + y =7 and x? + y? = 25, then the value of(;Jr;) is :

12
a) = B =
7 1
© 13 ® 7o

aﬁx+y=73ﬁ1x2+y2=25‘§,FﬁG+3€mW%:

12
) = B =
7 1
© 13 ® 7o

A factor of the expression x> — 2x + 1 is :

A) x-1 (B) x+1
(€) x+2 (D) x-2
SAh x3 — 2x + 1 1 Toh PHEUE 7 :

(A) x-1 B) x+1

(C) x+2 D) x-2



2 2

114. The solution of the equation 4t 6" Ois:
(A) 0 (B) 1
< 3 (D) 2
A o + s = O F AR
3x—4 2x—-6 ’
(A) 0 B) 1
[=]5[E]
<) 3 D) 2 Eﬁi
8 100
115. — =,|— x%/125 is equal to :

Ji6 V49 d
A) 7 B z
(A) ®) 3

4 1
© 3 D) 7
Y8 [100
=2 s == x3125 R R
Jie N 49

7

(A) 7 ® 3

4 1
© 3 D) 7

3
116. The simple interest on a sum of money for 5 years becomes 3 of the principal, then the

rate of simple interest will be :
(A) 10% B) 8%
©) 12% (D) 14%

%ﬁw&wsaﬁwwmmwmaﬂ% Bl ST &, T AR A1 3hl RN -

(A) 10% (B) 8%
©) 12% (D) 14%



117.

118.

119.

120.

If the loss caused by selling an article for ¥ 560 is ¥ 50 more than the profit made by
selling it for ¥ 720, then the cost price of the article is :

(A) %665 (B) 615

(C) %600 (D) %620

e fopet o I T 560 T =+ @ g3 g1, T 720 § 9= | §U Y ¥ T 50 37146 81, a1 a%g 1
FAA @ -

(A) %665 (B) %615 gﬁ&

(C) %600 (D) %620

If the cost of 5 bananas and 4 apples is equal to the cost of 3 bananas and 7 apples, then
the ratio of the prices of a banana and an apple will be :

(A) 1:4 (B) 3:2

(C) 4:3 (D) 3:5

Ife 5 et qAT 4 T T G 3 el a7 7 Wl o o b TSR &, I Teh hel a1 Th 9
T 6T ST &I

(A) 1:4 (B) 3:2

(C) 4:3 (D) 3:5

If 75 is added to 75% of a number, the same number is obtained, then that number is :

(A) 300 (B) 270
(C) 250 (D) 225
Ife fordt T 6 75% T 75 Sh I8! T I & 1Y, A1 98 &1 @ -
(A) 300 (B) 270
(C) 250 (D) 225

The present population of a village is 1,30,910. If in the previous years there is an increase
of 6%, a decrease of 5%, an increase of 4% respectively, then the population of 3 years
ago was

(A) 1,30,000 (B) 1,10,000

(C) 1,25,000 (D) 1,15,000

Teh TITel oh! FAHT SHEEAT 1,30,910 7 | A 7a 961 | ST 6% 3l JTG, 5% i HHT, 4%
g gE &, at 3 v g 1 e of

(A) 1,30,000 (B) 1,10,000

(C) 1,25,000 (D) 1,15,000



121. The process used in the separation of rice from paddy stalks is —

(A) Hand picking (B) Threshing
(C) Winnowing (D) _Sieving
et <h! FE SFEAT | et o TR H T ThH B -
(A) T&=IA (B) 1N
(C) Tt (D) =

122. One of the steps used in the process of formation of common salt from sea-water is —
(A) Distillation (B) Condensation
(C) Vaporisation (D) Filtration
LT STl ¥ FTERT T0h S o YohH T T Ueh UE & -
(A) 3THeH (B) ®oH
(C) T (D) T=Ie

123. The chemical substance present in calamine solution that is applied on the skin to
neutralise the effect of ant bite is —
(A) Calcium carbonate (B) Zinc carbonate
(C) Sodium carbonate (D) Sodium hydroxide

T o e o THTE ! ITHT A & foIu, o= W e I a7 Shoned faemee J sufea
e T 8 -

(A) e HEHe (B) T w@EHe
(C) wifeaw HrEHe (D) G BTEGIFATES mym
124. The oxide responsible for acid-rain is — E%
(A) H,0O (B) CO
(©) S0, (D) CO,
3T -a1 o 7T ITRerRft tfaaTss © -
(A) H,0 (B) CO
(C) SO, (D) CO,
125. The pair of thermosetting plastic is —
(A) Polythene, PVC (B) Polythene, Melamine
(C)  Bakelite, PVC (D) Bakelite, Melamine
yTafdT wTfeeeh 1 I & -
(A) Hiferefi, defie (B) uifetefiq, AR
(C) sherTse, diate (D) SheITEe, HAHTEA
126. The fuel with highest calorific value in kJ/kg unit is —
(A) CNG (B) LPG
(C) Petrol (D) Hydrogen
kJ/kg gohTS W Harlfires Srerte Wi STt S48 -
(A) HieTs (B) TeiSA
(€) ugr (D) TGS
127. The type of teaching aid involved in experiment done by a student in laboratory is —
(A) Audio aid (B) Visual aid
(C) Audio-visual aid (D) Activity aid
weh foremeff gra swTeTTer ® s foRd S 6 ffea fregor dem 1 yeR © -
(A) FIHYA (B) @ HmEd

(C) HF-3 AEA (D) ToraTeTes Tem



128.

129.

130.

131.

132.

In which group the unicellular, Eukaryotic organisms are included ?

(A) Monera (B) Protista

(C) Fungi (D) Plantae

fona T o ws HIRTRR, i Sha aftrfea fora s € 7
(A) = (B) wifeEe

(C) &= (D) =

After fertilization, a mature and developed ovary is known as —

(A) Seed (B) Endosperm

(C) Fruit (D) Embryo

= & uvE, T faeshfia o uituaa 31ugTer &1 ad 8 — %
() i (B) e .
(C) & D) ¥

Which one is not necessary for photosynthesis ?

(A) Sunlight (B) Carbon dioxide
(C) Chlorophyll (D) Oxygen
STRTITHYCTSYT o foTT oRIT STareareh e 2 7

(A) T H IR (B) I SRATHEE
(C) FARITH (D) AT

During respiration in plants the breakdown of glucose to Pyruvic acid is called —

(A) Kreb’s cycle (B) Calvin cycle

(C) Glycolysis (D) Fermentation

T H Y9 % G TIehIS! 1 UTSEIeh 310 § ferdres shgardl & —
(A) hed %k (B) hfcad =k

(C) TeIEhHIATEH (D) feruam

Who first described Golgi apparatus ?

(A) Robert Hooke (B) Robert Brown

(C) Camilio Golgi (D) Leeuwenhoek

FEYUH Tiesi! TR ohi Tohe affa foman 7

(A) THTH (B) T STA

(C) HHIel et (D) &S



133. Which bacterium causes ‘Whooping Cough’ disease in human ?

(A) Bordetella pertussis (B) Corynebacterium diphtheriae
(C) Mycobacterium leprae (D) Neisseria gonorrhoeae

I T SfiaT] & 7HE § el @il IR e 7

(A) SREee weR (B) eI fererdem

(C) WTShiSsIiET audt (D) i mafer

134. Which type of sweat glands are present in human skin ?

(A) Apocrine (B) Holocrine

(C) Eccrine (D) All of these

e o= | e TR i § JhR i Bidl @ 7 i
(A) T (B) EICilshrs G
(C) Tt (D) I oft

135. Disease caused by deficiency of Vitamin-D (Calciferol) is :

(A) Night-blindness (B) Beri-Beri
(C) Scurvy (D) Rickets
a2t (hfcafhia) 6t it & g IreT U 8
(A) Taieft (B) -
(C) et (D) frohea

136. In which animal asexual reproduction occurs by budding ?

(A) Amoeba (B) Hydra
(C) Plasmodium (D) Leishmania
B & o e g et S B R 7
(A)  Frra (B) MRSl
(C) wATHItSaH (D) et
137. Which hormone controls maturation of egg in ovary ?
(A) FSH (B) TSH
(C) ADH (D) GH
I A1 EHM ST H ST 3 aiusar i fEha s g ?
(A) FSH (B) TSH

(C) ADH (D) GH



138. Example of sexually transmitted disease is —

(A) T.B. (B) Cancer
(C) Gonorrhoea (D) Pneumonia
A G T T 3T B —
(A) . (B) W
(C) T (D) =
139. The example of Kharif crop is — EaE
(A) Gram (B) Pea E‘%
(C) Maize (D) Linseed
T 6 HHA HT IR & —
(A) = (B) "X
(C) Tah! (D) 3TerEt
140. Which of the following is the oldest teaching method ?
(A) Reminiscences method (B) Evaluation method
(C) Projective method (D) Anecdote method
frfaRad 3 9 ®F € ga9 yr=iA e fafa g 2
(A) wfa faf (B) TR farfty
(C) w&mu fafy (D) hEmI faty

141. Meaning of comprehensive evaluation in continuous and comprehensive evaluation —
(A) Evaluation of educational field
(B) Evaluation of co-educational field
(C) Evaluation of educational and co-educational field
(D) Evaluation of all subjects
Td Ud ST YeToh H SATdeh HoToh 1 aTedd & —
(A) NfeTeh & 1 YoaTR
(B) wg-ifereh &4 1 oAt
(C) feqe va g -fereh &= 1 geaTehd
(D) =¥t forwai o1 yemehd

142. Which teaching aids are not included in the visual equipment ?

(A) Projector (B) Film strip

(C) Poster (D) Gramophone

i ot e -wgreres amft gy -3ushtor § wftifed 7€ 7 7
(A) TSR (B) Thew feg

(C) URR (D) THI®BH



143.

144.

145.

146.

A force F is acting on area A. If the force is double and the area is halved, the resultant
pressure will be of the initial pressure :

(A) half (B) double
(C) one-fourth (D) four times

T 9 F forelt &3 A T @1 2 | TS S il QAT AT & i 3T H G, a1 TR e
TRIRTh Te T 81T :

(A) 3an (B) gﬂ:ﬂ
(C) Th-=ors (D) =N

A wooden spoon is dipped in a cup of ice-cream. Its other end

(A) becomes cold by the process of convection. %ﬁ
(B) becomes cold by the process of radiation. =
(C) becomes cold by the process of conduction.

(D) does not become cold.

AR h Teh THT i STTFHEHIH o RTCl § IR ST & | FHRT gE R
(A) TEET TishaT o RO SST &l ST |

(B) ferfertor afsran & sror Se1 81 S |

(C) =Te fshaT o ShIUT 3T &l ST |

(D) 3e1El g |

Image formed by a plane mirror is :

(A) virtual, behind the mirror and enlarged.

(B) virtual, behind the mirror and of the same size as the object.
(C) real, at the surface of the mirror and enlarged.

(D) real, behind the mirror and of the same size as the object.

FHae U gRT SR T WAt B @

(A) 3TYTE, gUur & d T et

(B) ITTE, gdur & e qe foia o dTgst o St
(C) aTfah, SUUT o Y53 TR qeT TTafed

(D) aTEafereh, gur o i qer foie o @13 o se

The limit of audibility for healthy human is :

(A) 10 Hz to 20000 Hz (B) 10 Hz to 2000 Hz
(C) 20 Hz to 20000 Hz (D) 20 Hz to 200000 Hz
Tl U o ToTu srearn iwn gt 2

(A) 10 Hz @ 20000 Hz (B) 10 Hz® 2000 Hz

(C) 20 Hz ¥ 20000 Hz (D) 20 Hz & 200000 Hz



147.

148.

149.

150.

Full name of LED is :

(A) Light Emitting Doll (B) Light Emitting Dynamo
(C) Light Emitting Drum (D) Light Emitting Diode
LED 1 g 99 g1 & :

(A) THI IcHh i (B) JehTSI IcEsTeh STE-HT
(C) T IcHaish SH (D) ThTS IcHSieh SRS

Electric-cell converts

[=

(A) mechanical energy into electric energy. GE
(B) electric energy into mechanical energy. E‘%
(C) chemical energy into electric energy.

(D) electric energy into sound energy.

fergga et uftarfda seam 8
(A) it Sl foga S d  (B)  Taega St ol A716 oAt §
(C) TEEfh ol ol faga St d (D) foregd St bl wafy St 8

Order of planets according to distance from the Sun is :
(A) Mercury, Venus, Mars, Earth
(B) Venus, Mercury, Earth, Mars
(C) Mercury, Venus, Earth, Mars
(D) Mercury, Earth, Venus, Mars

A H gl o STIER T8I HI A 3
(A) 94, Ik, T, Gl (B) sk, 94, gefl, AT
(C) 94, Wk, 9T, e (D) g4, 9=H, sk, AT

Which of the following is not a criteria of a good test ?

(A) Reliability (B) Validity

(C) Objectivity (D) Subjectivity
frfafad 3 @ o a1 G 3= he %1 qude T8 8 ?
(A) Tavasrar (B) dEran

(C) TEfa (D) SHfFIIERal



SECTION-IV(b) / ©UE — [V (b)

SOCIAL STUDIES / TTHISTR 3185

There are 60 questions in all in this section. The candidates who have selected this subject

must answer all the questions.

W @UE H HA 60 T & | T it 7 g fawer 1 == foman 2 3% wft woa e srferd R

91.

92.

93.

94.

9s.

Which was an administrative subdivision of a Mughal province ?

(A) Peshkash (B) Jaagir

(C) Milkiyat (D) Pargana

TS Tl H Ueh SITE{eh THEHA i &1 o1 7

(A) UIHT (B) WM

(C) Tufesraa (D) SUHEI

Which is a Major poetic anthology of Alvar Saints also known as Tamil Ved ?
(A) Tondaradippodi (B) Karaikkal Ammaiyar

(C) Tavram (D) Nalayira Divyaprabandham

IITIR Fl 1 Ush Y& H1ed Hehe 18 dftret g o &9 § off <1 911am 8

(A) dicufeifs (B) HZFhTAT TSI

(C) dqaw (D) SRAIfCeTTaem

The Mother of Mughal ruler Jahangir belong to which Rajput dynasty ? %
(A) Kachhwaha (B) Rathore =
(C) Parmar (D) Chouhan

TS STEh SRR eh! [IAT fehd TS 991 § i off ?

(A) BB (B) Tdtg

(C) WER (D) <IBH

“A cherry that will drop into our mouth one day.” In 1851 the Governor — General Lord
Dalhousie said this statement about which state ?

(A) Satara (B) Awadh

(C) Jhansi (D) Nagpur

“¥ Hel Teh T AR &1 g | ATt fIRem 1 1851 | o SRt ofis Sotarstl 4 I8 & fopd
e o SR § s ?

(A) €dW (B) 3@y

(C) e (D) PR

Which day was earmarked for “Direct Action Day” ?
(A) 14 August 1948 (B) 16 August 1947
(C) 14 August 1946 (D) 16 August 1946
Ty SRiaTE fead’ &g ia @ fem fgifa feram mmen 2
(A) 14 3TE, 1948 (B) 16 3T, 1947

(C) 14 37T, 1946 (D) 16 3T, 1946



96.

97.

98.

99.

100.

101.

By which Constitutional Amendment the Age of adult suffrage in India was reduced from
21 years to 18 years ?

(A) 59 (B) 61

(C) 03 . - (D) 71

fora Afaem denem o gRT YRA H 9o TaTieshR shi 31 21 99 & T2 18 a9 ot Tt 7
(A) 59 (B) 61

(C) 63 D) 71

Which feature is not in the “Preamble” of the Constitution of India ?

(A) Secularism (B) Federal Government

(C) Political Justice (D) Equality of Status

YT o HITLT 1 SRdTaHT | i it foeivar T8 8 7

(A) ug-frueman (B) W I

(C) THifaes =m (D) et 6t T

Who was the Deputy Chairman of the Constituent Assembly in India ?

(A) Dr. Rajendra Prasad (B) K.M. Munshi

(C) A.N. Sinha (D) H.C. Mukharji

R shi Gfae fmiE @ % smeag we 3 7

(A) . TS 9T (B) .UH. g %ﬁ?
(C) T.Uq. fo== (D) TAH. gEsi =
“Right to Property” is presently mentioned in which Article of the Constitution of India ?
(A) 224 (A) (B) 290 (A)

(C) 300 (A) D) 32@ |

g ST IR IAHH | WRA o AfIeTH o fohg =g ¥ afvfa g ?

(A) 224 (%) (B) 290 ()

(C) 300 (=) (D) 312 (%)

Which Constitutional Amendment was made to provide opportunities for education to the
children of 6 to 14 year of age ?

(A) 740 (B) 81t
(C) 86" (D) 91th
6T 14 99 35 o STeTehi ol 1T & ITETER IUCTed HUH 7q M A1 TfIa Fened foham w2
(A) 744t (B) 81af
(C) 86dt (D) 914t

Who are included in the electoral college of the Vice-President of India ?
(A) Nominated members of Parliament

(B) Elected members of State Legislative Assemblies

(C) Both (A) and (B)

(D) Nominated members of State Legislative Assemblies

W & UL o et Auget # i M 8 7

(A) HEE % A T (B) T fagmmnati & fFatfaa g

(C) (A) 3R (B) gl (D) TSI faumaenati o I Jee




102.

103.

104.

10sS.

106.

107.

Which Article of the Constitution of India described the Power of the President to
“consult” the Supreme Court of India ?

(A) 143 (B) 147

(C) 140 (D) 145

IR o I AT H TS L shl Tgafer i sifert Wi o Gferer < fohg srgeag g aftfa g 2
(A) 143 (B) 147

(C) 140 (D) 145

In which Part of Constitution of India described the Urban Local government ?
(A) 8 (B) 9(A)

<o) 11 (D) 10(A)

YT oh HIILTH o fohd W | &0 T s afvfa g 7

A) 8 B) 9 )

<o) 11 (D) 10 (=)

What is the minimum number of Women Members in the National Commission for
Protection of Child Right ?

A) 2 B) 3

©) 4 , D) 5

TE STeT SRR T ST § IAaw fohat wigen 9es g1 31fam g ? -
(A) 2 (B) 3 T
<© 4 D) 5

According to Article 74 of the Constitution of India on whose advice does the President act ?
(A) Council of Minister (B) Vice-President

(©) Sppaker of Loksabha (D) Governor

T o HITLH o IS¢ 74 % qad TPl feherehl Tetrg & S a1 2 ?

(A) Tt dftsg (B) IHIufd

(C) AR 3TeTe (D) TSI

Which of the following is a group of inner planets ?

(A) Mercury, Venus, Earth, Jupiter

(B) Venus, Earth, Mercury, Mars

(C) Earth, Mars, Venus, Jupiter

(D) Earth, Mars, Jupiter, Saturn

fraferiga o & 61 |1 3T T8I T TH T R 7

(A) 94, I, I, FeEtd (B) X, geefl, g4, T
(C) et W, Y, gewata (D) e, e, ggetd, i

Which of the following is a correct statement with reference to latitude and longitude
respectively ?

(A) 87° North to 197° East (B) 56° North to 91° South

(C) 101° East to 192° West (D) 23° North to 66° East

fforfiaa o @ shAeT: A& o IR o TveeY H ) JTfieted 2

(A) 87°IWH 197° @ (B) 56° ITH 91° gfequr

(C) 101°9d & 192° ufvaw (D) 23°3ITH 66° T4



108. Equinox is related to -

(A) 21 March (B) 29 February
(C) 22 December (D) 21 June
foye wafR@ & -
(A) 219 ¥ (B) 29 ®&El®
(C) 22 femmama (D) 21 H
109. Which range is located in the north-west direction of the Peninsular Plateau ?
(A) Vindhyachal (B) Satpura
(C) Aravalli (D) Eastern Ghats
S H TeaHTe TG TSR o Iat-ufvem fesn # fea g v
(A) foeree (B) HALST
(C) 3wt (D) gt =me

110. Which of the following is related to endogenic forces ?
(A) Wind, Glaciers, Volcano
(B) Volcano, Landslides, Earthquake
(C) Earthquake, Landslides, River
(D) Glaciers, Sea-waves, River

TfcTRad o | M |1 JTasd Sell § Sri-d § ?

(A) U, fewe, SaremgEt (B) SATAHE!, Y&, YT
(C) ¥, EEeH, Tt (D) Tewe, @t -auT, Tdt

=
TE-

111. In 1947, he was then Director General of the Archaeological Survey of India.
(A) Alexander Cunningham (B) R.C. Banerjee

(C) R.E.M. Wheeler (D) Sir Jhon Marshal
1947 H R YU TAeT0T o qeehlei M SRREI-e o
(A) TSt Hiam (B) 3TR.H. gt

(C) NI, ek (D) W AR

112. Which Satavahana ruler claimed to be both, a unique Brahmana (eka bamhana) and a
destroyer of the pride of Kshatriyas ?

(A) Satakarni -1 (B) Shiv Skanda Satakarni

(C) Simuka (D) Gautamiputra Sri — Satakarni

ohE ATqaTER I A T i ST STET (T STEHAT) Td SRR o ¥ 1 &+ i aral
odrT 7

(A) SITaeRUi-gom (B) & whg smaeuft

(C) T (D) T sft-saenutt



113.

114.

115.

116.

117.

At which place in Gujarat were the teachings of Lord Mahavira and his followers
presently available were written down about 1500 years ago ?

(A) Valabhi (B) Lothal

(C) Rangpur (D) Bharuch

TAHM F9 H IUCTeY WA HEIER T 3eh STTATRRT <l Feamd & 1500 a9 qaf T[orra o
Toret T W forelt 77 off ¢

(A) doaHt (B) oYU

(€) TR (D) ¥

Which ‘Tripitaka’ tells us that there were separate branches for men and women in
‘Sangha’ ?

(A) Abhidhamma Pitaka (B) Sutta Pitaka

(C) Vinaya Pitaka (D) None of these

T H TN 37 Rl o 1@ ot 37T - 37enT sFewen oft, g g fohd fiftes @ war weran & ¢
(A) 3frer e (B) Hd fues

(€) foa firess (D) TTH AP TE

Which rivers contributed significantly to Magadha’s transportation, water supplies and
making the land fertile ?

. =5 E
(A) Godavari — Tungabhadra (B) Ganga— Son ;E%if
(C) Chambal — Mahi (D) Krishna — Kaveri
I ©t Tl 5 WY o AT, o - <] T STHIH @l 3T S H Haw@qui AMTEH feam ?
(A) TErEdt — gegT (B) T —EH
(C) =t — ATl (D) M —HI

Most of the Ashoka’s inscriptions have been found in -
(A) Prakrit Language and Brahmi Script

(B) Pali Language and Devnagari Script

(C) Sanskrit Language and Brahmi Script

(D) Punjabi Language and Gurumukhi Script

3T < STTerehTeT HferE IR T & -

(A) wieha vt SR s fafs (B)  wfor s 3R gEanR fafy

(C) G&pa w1 R st fafs (D) ot e iR ey fafy

Which land was granted to Brahmanas and was usually exempted from paying land
revenue and other dues to King ?

(A) Agrabhag (B) Agrahara

(C) Agradaan (D) Bhumi-dan

& I G -3 AT ST SITEIUT bl G FET STTT o a1 378 fHe 9 311 ThR o L TST g
T T Id o 7

(A) IT¥M (B) 3UER

(©) 3w (D) ¥H-TH



118.

119.

120.

121.

In which language was the “Prayaga — Prashasti” composed by Harishena, the court poet
of Samudragupta ?

(A) Prakrit (B) Hindi

(C) Pali (D) Sanskrit

TRANT-YITEA” <Y T TG b TsTehial YT A fehgr wrem ® <6t ot 7
(A) WFd B) f&d

(C) e (D) F&Fd

The Shunga dynasty was founded by which General of the Mauryas ?
(A) Pushyamitra Shunga (B) Agnimitra Shunga

(C) Vasumitra Shunga (D) Devbhuti Shunga

7T S Sh1 TATIAT o8 HIE SR GT0 <61 718 off 7

(A) q=f= s;n (B) aﬁrﬁagjn

(C) gfw T (D) afer 3T

Choose the Kanishka’s court poet who composed a biography of the Buddha, the
‘Buddhacharita’.

(A) Saundranand (B) Ashvaghosha
(C) Shudrak (D) Harshvardhan .
s T TSTehd I TG g 1 Sfial, “Fgaita’ ot w1 61 off | %&
(A) H< (B) IReEN
C) EH (D) ®E¥aHd
Match the following :
Mineral Use
(1) Lead Zinc (a) Electric Wire
(2) Copper (b) Fertilizers
(3) Gypsum (c) Ceramic

(4) Wollastonite (d) Battery Acid
(;) 2 & @

(A) c d a
B) ¢ d a b
(C) a b c d
D) d a b c
gfaa hifg

LGRS ECb ]
(1) e s (a) fogga an
(2) drsm (b) I
3) foreem (c) faife

(A) b c d a
B) ¢ d a b
(C) a b c d
(D) d a b c



122. The headquarters of North-Western Railway Division is located at

(A) Jaipur (B) Ajmer
(C) Kota (D) Jodhpur
I -ufeay {etd queat i JeTer fod & -
(A) SRR (B) TR
(C) =i (D) g
123. When did Rana Sanga died ?
(A) 30 January, 1528 (B) 30 July, 1527
(C) 28 August, 1529 (D) 29 November, 1530
T | <l G e FS 7
(A) 30 SFad, 1528 (B) 30T, 1527
(C) 28 3T, 1529 (D) 2949, 1530
124. Who was the founder of Vishnoi sect ? EaE
(A) Pipaji (B) Achalnathji ;Eﬁi
(C) Jambhoji (D) Ramanandji
fore1E Twer™ & Yadsh BA & ?
(A) YT (B) TGS
(C) (D) TEM=SA

125. Who was the editor of the newspaper “Pratap” which gave wide publicity to the Bijoliya
Peasant Movement ?

(A) Ganesh Shankar Vidhyarthi (B) Rama Kishan Verma

(C) Manikyalal Verma (D) Ramlal Ojha
fetiferan fopam 3T ! =TIk TR ¢ aTel FHTIR -3 “WaTd” & TUTeeh i & 7
(A) TTorST Yot feremeft (B) T fepar mi
(C) TTfTeRIeATeT Tt (D) THSTA AT
126. When was the Matsya Sangh established in the first phase of Rajasthan integration ?
(A) 30.03.1948 (B) 18.03.1948
(C) 11.11.1950 (D) 28.03.1949
TISTEAT — TehIehtUT & J2H T H Ao Tl <h TATHHT el 8 7
(A) 30.03.1948 (B) 18.03.1948

(C) 11.11.1950 (D) 28.03.1949



127.

128.

129.

130.

131.

132.

Where was the “Rajasthan Seva Sangh” established in 1919 with the contribution of Vijay
Singh Pathik, Ramnarayan Choudhary and Haribhai Kinkar ?

(A) Bhinmal (B) Raipur

(C) Alwar (D) Wardha

1919 H TS Fer o <h T foorafig ufees, trAmmer el 3t g fhet &

TITEH & HEl g8 7

(A) HiETA (B) TWAX

(C) 3R (D) @i

During the reign of which ruler Pichola lake was built ?

(A) Bappa Rawal (B) Maharana Lakha

(C) Rana Sanga (D) Rao Chunda

Torster el <1 formior fore wTreres o et | g3 ?

(A) T TeA (B) HERIUT ATl

(C) T g (D) Td guel

“Jaisingh Karika” written by Sawai Jai Singh related to which subject ?

(A) Astrology (B) Economics

(C) Politics (D) Military administration )

TaTE St g ferfaa <stafig s ames T form v g geafm @ 2 %
=

(A) oy (B) YA

(C) T (D) S=-I=MEA

‘Pichwai Painting’ related to which school of painting ?
(A) Kishangarh School of painting

(B) Bikaner school of painting

(C) Alwar school of painting

(D) Nathdwara school of painting

freas e frg fasemen 9 @ gefa 2 7
(A) Teremg femeren St (B) iR Fasehett Rett

(C) 3Tt ekt Steft (D) UGN ferstenett et
‘Rangadi’ and “Nimadi’ are subdialects of which Rajasthani dialect ?
(A) Malawi (B) Wagdi

(C) Hadauti (D) Shekhawati

TEr 3R et fepa Trsteerh ieft <61 susifori 8 ?

(A) el (B) amTEl

(©) widt (D) ST

Who was also known as ‘Meera of Wagad’ ?

(A) Meera Bai (B) Gavari Bai

(C) Koyal Bai (D) Kali Bai

B GITE 1 W b A9 F oft I S off ?

(A) T (B) et

(C) I TS (D) It &S



133. Which one of the following is not the aim of Social Science ?
(A) Intellectual and Mental development
(B) Utilization of leisure time
(C) Helpful in bringing social changes
(D) Teaching etiquettes
e 8 | s | gt o wr asr TE @ 7

(A) g 7 ot foehm (B) 3TN & TH h1 GG HieTl
(C) TRk TiEdH @ | TgrIeh s=1 (D) freqor Rreem

134. The importance of teaching-learning material in Social Science is :

(A) Save time and energy (B) Clarity of the subject matter

(C) Both (A) and (B) are wrong (D) Both (A) and (B) are correct

| formm o o srferm sl =61 e @ - -
(A) TEF 3R afem 6t s=d (B) o= awq <t wamar ;E'%f
(€) (A) 3R (B) qHI a2 | (D) (A) 3T (B) T AT |

135. “Social Science refers to those branches of the study that deal with humans in their social
relations.” This definition was given by —
(A) Columbia Encyclopedia
(B) Britannica Encyclopedia
(C) Encyclopedia of Social Sciences
(D) Report of, The Commission on Social Studies, USA
“greTtoreh T & Tead STe i 39 @1t § & S HHa "I i 3k ATTIeTeh dVa-di o

gee T grg 1 HEEdl i & |7 I8 aReTe € R —
(A) AT THTESATd IS

(B) Tsrfen wramgaadifen

(C) TAHTgFATAfET 31Th TrreT |Arge

(D) GMIREh LR AR, . TE.T. 6 fTie

136. Use of Information Technology in Education started first in which country ?

(A) Britain (B) USA

(C) France (D) Germany
AT Ah-1ehl o1 T31eqT o T gt IUART fohd <1 H fopam T 7
(A) foe (B) FTH.T.

(C) wH (D) R



137.

138.

139.

140.

141.

142.

Which criteria is not correct for a good evaluation ?

(A) Validity (B) Reliability

(C) Objectivity (D) Subjectivity

T 3T HodToh o [T hIF |1 HTICE Hal T8l & 7

(A) Qeran (B) foreaerierman

(C) w&gEal (D) AFHTHAT
Values of Social Science teaching are —

(A) Social Value (B) Democratic Value
(C) Arttistic and Recreational Value (D) All of the above
TraTfoTeR ot fanetor < qer 8 -

(A) EmETe g (B) S Teot

(C) HeITcHh 3T HARSHTCHS o (D) 3T aft

Summative Assessment is inappropriate for the following :

(A) Deciding upon the grade

(B) Summarising student learning

(C) End of the term assessment

(D) Monitoring the progress of teaching — learning process

HeheTTcHeh HedTeh [ o ToTT ST & — EiE
(A) Aoh (irs) Ffoera e st
(B) feremeff srferm o1 AR Haw dAR HA A

(C)  EA Teaieht

(D) Trefor-3rfermm wfskan i weifa o fmot

Which of the following subject is not included in social science at the upper primary level ?

(A) History (B) Civics

(C) Geography (D) Psychology

=1 9 & % a1 faw 3= merfies o o amrtees o | aftrfaa T8 @ 2
(A) sfoem (B) THERRIER

(C) s (D) AT

Which one of the following is the correct example of ‘Application objective’ of teaching ?
(A) Define (B) Classify

(C) Establish (D) Recall

e o & TRreaoT 36 ST 369 T Hal IETE § -

(A) IRTT ST (B) aieRtul ST

(C) TTfud T (D)  ICIRHIOT AT

Main components of Information Technology are —

(A) Software (B) Hardware

(C) User (D) All of the above

g1 b Ieh! o TG U & —

(A) HRI (B) BEIH

(C) STENTERAl (D) Iofed aft



143.

144.

145.

146.

147.

Which permanent wind blows between 30° South to 60° South latitudes ?
(A) South — East trade winds (B) Polar Easterlies
(C) Westerlies winds (D) North-East trade winds

I o =l gad 30° il starii & 60° el sterel % ne yefed Bt 8 ?
(A) <fEor-ge ST weH (B) get gef ga

(C) UG Uad (D) IT-ydf =AmaTies gad

Where do willy-willies cyclones originate ?

(A) West Australia (B) Pacific Ocean

(C) Atlantic Ocean (D) Indian Ocean

foreft-ferefist <rshaTd Fai ST g 8 7

(A) afeaH sfefera (B) ™I HEETR

(C) AT HEETR (D) feg HegmmR

Which of the following oceanic currents are located in the South Atlantic Ocean ?
(1) Brazilian Current (2) Benguela Current

(3) Opyashio Current (4) Gulf Stream Current Elﬁliltg
(A) 2,4 B) L2 =

(€) 3.4 D) 1,2,4

FrfeTiaa TemTHE 9Tt | 9 s € 9 gleult sTediies HgMTR | a8 ?
(1) sTshifer™ g/ (2) STEen g

(3)  FEE g (4) T® T g

(A) 2,4 B) L2

© 3,4 D) 1,2,4

Dehradun, Kotlidun and Patlidun are located at

(A) Between Himadri and Himachal

(B) Between Himachal and Shiwaliks

(C) South of Shiwaliks

(D) North of Himadri

GBUIGH, hieeiigd Ud Teeiigd ferd & -

(A) femrsh o feuraet & ne (B) Teuraet @ fyranferss & wex
(C) forarferes = gfamft e o (D) Tammet o 3t vt @

In August, at which latitude does the Subtropical Easterly Jet Stream blow in India ?

(A) 8° North (B) 15°North
(C) 27° North (D) 37° North
T H1g 8 WA # Surwrehfesei qeff Sie & o fope steater o veied B @ ?
(A) 8°3IW (B) 15°3W

(C©) 27°3W (D) 37°3W



148.

149.

150.

The correct order of the physical regions of Rajasthan located from North to South is
(A) Vindhyan range — Luni Basin — Shekhawati Region — Mahi Plains

(B) Luni Basin — Vindhyan range — Shekhawati Region — Mahi Plains

(C) Shekawati Region — Vindhyan range — Luni Basin — Mahi Plains

(D) Plains of Ghaghar — Bhorat Plateau — Shekhawati Region — Luni Basin

TSTEAT o Wiifereh ToTi o1 TR & gfequr feom # srafeufa &1 et v & -
(A) e ooft - oft 9fem - IEEd yew — ATE *1 8eH

(B) <t afem — faerm goft — Sramadt uewr — a1 1 fgm

(C) YEEE wew — faem avft — Tl 9 — w1l o1 fem

(D) 9 1 HEH — HRIC 1 TSR — I@TFE! T — T S

Which of the following is an example of Arabian Sea drainage system ?
(A) Menal, Kothari, Berach (B) Jojri, Berach, Menal

(C) Kothari, Som, Ruparel (D) Jojri, Bandi, Jawai
FfeTiad o 9 3RE AR 3T9aTE 0 &1 3¢ 3 -
(A) AT, BIBR, 9 (B) IwiEl, §gd, AT
(C) ISR, HH, TR (D) I, Tell, e o
Match the following : E‘%

Name of Sanctuary Wild animal
(1) Desert National Park  (a) Panther
(2) Todgarh Raoli (b) Bear
(3) Sita Mata (c) Great Indian Bustard
(4) Mount Abu (d) Flying Squirrel

m @ & @
(A) ¢ a d b
(B) a c b d
< d a c b
(D) b d a c
grfera shifsr -
FWIARTT T AH EREEICH

(1) TRwesas  (a) dgan

(2) 2reTe et (b) I

(3) tar |rar (c) TETeH

(4) TR AT (d) 3 fireredl
» 2 3 @

(A) ¢ a d b
(B) a c b d
) d a c b
(D) b d a c
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(96) PL-2
INSTRUCTIONS / f5éa
(Read carefully and comply / &9 & 9§ &R e &%)
IMPORTANT / H&@qt

. In Section II (Language-I) a candidate has to attempt the questions of the language which the candidate has selected as Language-I in the
. In Section III (Language-II) a candidate has to attempt the questions of the language which the candidate has selected as Language-II in the

. The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place in the

. The candidate has to answer of that subject in Section (IV a) Mathematics and Science or (IV b) Social Studies as selected by the candidate

Online Application Form.
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Online Application Form. The Language-II will be different from Language-1.
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OMR Answer Sheet. Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not
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in the Online Applicaton Form.
If a candidate answers the questions of the langu fe or subject other than selected in the Online Application Form, the candidate shall be
personally responsible_for it and it would be treated as wrong.
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Read complete instructions carefully and fill the details from S1. No. 1 to 7 in the OMR Answer Sheet and Sl. No. 1 to 4 in the Question
Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the consequences arising during
scanma# of your OMR Answer Sheet.
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The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet only then the candidates will open
the Question Booklet seals. Check whether the Booklet contains 150 questions starting from Page No. 3 to 90. The Shift Number required in
OMR Sheet will be as per admit card issued to the candidate and also mentioned on the top of the Question Booklet.
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All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each question carrying one mark. There
will be no negative marking for wrong answers.
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All questions other than language questions of Sections II and Il shall be bilingual.
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In any event of any mistake_in any question/s, candidates will not be penalized. However no corrections will be made in question/s during the examination.
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Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off from the

uestion Booklet. No additional paper shall be prov1ded . ;
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Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary, Bluetooth, Microphone or any other electronic item/instrument
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OMR Answer Sheet will be provided along wit ;%fﬁsuon Booklet separately.
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The Question Booklet will be issued to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR
Answer Sheet. The Question Booklet seal shall be opened 5 minutes before the start of examination and the candidate must fill  to4 entries correctly
on the Question Booklet. After opening the Question Booklet, ensure that any page/ question is not missing / not printed / torn / repeated. In case,
you find any defect anywhere in the Question Booklet, immediately inform the Invigilator and get it replaced within 5 minutes by the Invigilator.
Warnm Bell will rmg at 5 minutes before closer of examination and the last long bell will ring at closer of exammatlon
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erte your Name, Exam Center Code Signature, Roll No., Question Booklet Serles Code, Shift Number and Question Paper Booklet Number
in the space prov1ded in the Questlon Booklet as well as in the OMR Answer Sheet.
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With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find out which
answer, according to you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR Answer Sheet corresponding
to the question. For marking answers use blue/blaek ballpoint pen only Gel pens/pencils are not allowed.
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OMR Answer Sheet is designed for computer evaluation. If you donot follow the instructions given above and at the backside ofthe OMR Answer
Sheet, 1t m make evaluation b, computer dlfﬁcult Any resultant loss to the candidate on the abgve account shall be of the candidate only.
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No candldate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the
left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy (Duplicate) so that the Original Copy is not mutilated
in any way. Candidate should handover the Original OMR Copy and Question Booklet to the invigilator before leaving the examination hall.
Candidate can carry only the Candldate s OMR co w1th him/her. Question Booklet is not allowed to be taken by the candldate
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